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Topic:- Grad_Nutrition and Health

1) Aims of the National Nutrition policy is:/ Jg1a Wwor Hifq &1 @87 8:
1. Both of the above/ IR Eﬁ:ﬁ
2. None of the above/ SWRiad & I IS 8!

3. To highlight the need for intersectoral coordination to achieve nutritional goals/

TIYUT 6t b1 TR b & ford fafie & & ot gH-ag &1 Mavgddl UR UHTR SIeH]

4. To reduce the burden of malnutrition in the country/ 3% ¥ $UINUI &7 Sg USHT

Correct Answer :-

. Both of the above/ SWRIad Gl

2) Infant mortality refers to the number of deaths below years of
age per 1000 live births./ TasTd g &% Ufd 1000 Shifaa =9 w° | $Y9 g

 Rrgell Y gog T@I + e @
1.1year/ 13§
2. 2 year/ 2 9y
3.3 year/3a'l3f

4. 4 year/4 ay

Correct Answer :-

e 1 year/ 199

3) An example of incomplete protein is:/ 3rl10fu1'<ﬂ=r dI Th 3qler 0l %:



1. Zein/ﬁ;l'Q:r
2. Egg/3fel
3. Milk/g¥
4. Fish/Hadl

Correct Answer :-

. Zein/N@T

4) What is the recommended dietary allowance for iron for girls between 10-
15 years of age as per ICMR 20102/ ICMR 2010 & 3[R 10-15 T4 &1 37g areit

qrfaeIai & T SR $1 rRifa Mgt Srgufa 82
1. 27 mg/day/27 i/ fea
2. 20 mg/day/20 Fr/feq
3. 33 mg/day/33 fimn/fea
4. 35 mg/day/35 fou/faA

Correct Answer :-

. 27 mg/day/27 fmn/fea

5) A vaccine can be:/ ARI= gl g gl
1. An antigenic protein/ odiA® UidH

2. Weakened pathogen/ &0 &1 faar a1 Ao

3. Live attenuated pathogen/ Siifdd, &ﬂUﬂW CSECY
4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ Iudad Tt

6) Vitamins A, D, E, and K are:/fdeif¥9 A, D, E 3R K &

1. Fat soluble vitamins/ 39T ¥ ge=itd faerf®

2. Water soluble vitamins/ od | Qﬁﬂﬂﬁﬁ?‘lﬁl’r{
3. Insoluble vitamins/ 3{geRITe faeTeA

4. None of the above/ SIRIad & ¥ &5 ol

Correct Answer :-



« Fat soluble vitamins/ a1 ¥ gaH=id faerfe=

7) In general, nutritional deficits in the breastfeeding mother:/ U &I LE|
HTaT § T =it S g9 | qrTaa: |/ T 82

1. Reduce the quantity of her milk/ 3% g¥ P AT U ST §
2. Reduce all nutrients equally/ 94 UV® d@ SRISR HET § O S &

3. Stop lactation entirely/ gr™Td U8 @R ¥ ST ©
4. None of the above/E:I'ﬁf I ﬁé TE?[

Correct Answer :-
. Reduce the quantity of her milk/ 3¥d gY &I AET U S &

8) The term for a fertilised egg from conception until the end of two months
development-/ fAU49F T dF: Q) U418 $t GHIGT a9, e 3rvs ST & w1 Far
TdT 82

1. Ova/ 308 BIfRIbT
2. Foetus/ My fRIg

3. Zygote/ g
4. Embryo/¥{Ul

Correct Answer :-

« Embryo/YUl

9) The foetus is especially subject to the teratogenic effects of some

chemicals during which period of time?/ g gwarafy o ﬂﬁ@lﬁ’l"{[wm
& foeus yutal & Ry wu & o= giar g2

1. First trimester/ Ugall faATR!
2. Fertilisation/ IGLER

3. Second trimester/ gﬂél |?|1=II€|
4. Third trimester/ IR EIRGE:! él

Correct Answer :-

e First trimester/ U‘s’?ﬁ f?l'HTEﬁ

10) Which of the following water-soluble vitamins does not pose a

particularly high risk of toxicity?/ s=n?r q B od g?mﬂ?r ferfom fowrear &1



fadi ¥u @ = Sifew Saw T8 Hear 82
1. Vitamin B6/ facIf#= B6

2. Thiamine/ UrATHA

3. Vitamin C/ faerféq €

4. Niacin/ e

Correct Answer :-

« Thiamine/ YrafF=

11) Fetus receives Nutrition through:/ TRy ﬁ?l’s{[?ﬁ YT & HTHH 9
frerar 81

1. Antibodies/ Tudialst

2. Meconium/ SITAfd8T (HeI-TH)

3. Placenta/ TTHATA (Wi¥iCT)

4. Amniotic fluid/3d IRA (TVHACH FIZS)

Correct Answer :-

« Placenta/ THATd (@@?‘[)

12) The dietary recommendations for retinol for a expectant mother as per

ICMR 2010 is-/ ICMR 2010 & 3G9R THadl it gq Yeara & smerdta srgufa &-
1. 800 micrograms/day/800 A/ fea
2. 650 micrograms/day/ 650 ATSH I/ faA
3. 550 micrograms/day/ 550 rgehmH/ e
4. 700 micrograms/day/700 s om/feT

Correct Answer :-

« 800 micrograms/day/800 ATZs A/

13) A visual food guide which enables an individual to understand the
recommendations for dietary guidelines and put them into practice is: /T®

TATHP Wil Arielier St sufed & smersiy ferm fAdn & sra=iamrst &) gus™ iR 3%
aeR ¥ a1 A 99y g1 8:

1. Food guide pyramid/ 9Tl iR fiRifrs
2. Energy pyramid/ Sl foRIfirs



3. Protein pyramid/ UidH fiRifirs
4. None of the above/ SWRIad & ¥ PIs Tl

Correct Answer :-

. Food guide pyramid/ &g ArfeRieT frifirs

14) Which of the following types of beriberi are correct except?/ 574 ¥ frd
Brear =g 9ft, 3-8 F 9 voR §2

1. Dry beriberi/ Y[t ERCR

2. Cardiac beriberi-Wet beriberi/ §&d SRIeR! - TG SIaR!
3. Infantile beriberi/ TaGITd sRieR

4. Geriatric beriberi/ I a¥Ia’t

Correct Answer :-

« Geriatric beriberi/ I& a<Ia’t

15) 10gm of iodized salt provides mg of iodine:/ 10 UTH 3RS H-gad
THE I form smad= fredt 3:

1. 150
2.100
3.120

4. 80

Correct Answer :-

« 150

16) Insulin deficiency causes:/ SIfeH @ HH A Fa1 a1 82
1. Diabetes insipidus/ SAfaey gﬁlﬁ?ﬂ

2. Goitre/ o

3. Diabetes mellitus/ SAfacIel Afeicd

4. All of the above/ B‘C@Tﬁ gt

Correct Answer :-

. Diabetes mellitus/ SRfacs Afeley



17) What are the important tasks, which the community health centers

undertakes?/ ATSIS WIRA H51 gIRT HT T aTd Wgeayul SR 1 72

1. Disposing off the sewage/ HdSId BT e

2. Germ free drinking water/ i 1] Hod Ui
3. Immunization and health education/ UfaReli®ur Td W@y e
4, All of the above/ G‘q?iaﬂ gt

Correct Answer :-

« All of the above/ G‘q?iTﬁ gt

18) Vaccines make the body?/ 3&fH TR A FT HRad 82

1. Produce antibodies/TU¢Iais! Idd BT

2. Produce more red blood cells/ 3R 3if¥/® dId Iad HIRABTT IAT BT

3. Produce dead bacteria/ Jd STy Sd= BT
4. None of these/ 374 ¥ ®Is g1

Correct Answer :-

« Produce antibodies/TUcIaIst I BT

19) Expected weight gain during third trimester of pregnancy is-/ TYTaRIT B

Tt formrd & dR1 erdfda wR g3 @ -
1. One pound a week/ T® UI3s Ul I8
2. Two pound a week/ & UI3s Uid I«

3. 10 pounds in month/ TF A8 # 10 UES

4. None of the above/ ITdad & q ®I3 gl

Correct Answer :-

« One pound a week/ T&% T3S Ufd I«

20) The RDA for calcium for growing boys between 10 to 17 years of age as
per ICMR 2010:/ ICMR 2010 & 39X 10 ¥ 17 T4 & F¢d ITa®d| & fOT HIRmaq i
RDA :

1. 500 mg / day/500 fin/fea
2. 600 mg / day/600 f&rm/fea
3. 800 mg / day/800 f&rm/fea



4.900 mg / day/900 fim/fea

Correct Answer :-

- 800 mg / day/800 fom/fea

21) Most vaccines are-/ 3if@av aRiA

1. Taken by mouth/ T@ gRT faw Ird €

2. Injected in body by Injection/ S9/aRM gRT TRR H UfI¥ HRIT 910 &
3. Inhaled/ 9 &R fau 91d €

4. Taken with food/ WIS & 1Y ﬁﬂ SITd %

Correct Answer :-

. Injected in body by Injection/ $9/a_ gRT TRR H UfAY BT O1d §

22) Pradhan Mantri Gramodaya Yojana focuses on creation of social and

economic infrastructure which include:/ U< A+l THIGY ST JTHTSG 3R
i gfard e & fFmfor w »f=a 8 o wfire &

1. Rural roads/ JmHI0T 3&3@3
2. Safe and potable drinking water/ gRfa&rd Td U9 a1vg Sd

3. Better housing/ YER AN
4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ ITad it

23) The food pyramid for Indians as per NIN 2010 suggests / shows foods to
be-/NIN 2010 & 3R YR 3g @re fRifirs @re uerd gmar/gwitar 2

1. "Eat Adequately"/ "OOT HET | WM 9 ara”

2. "Eat moderately"/"Tafid A1 H# QT S 91"

3. "Eat sparingly"/"Sgd 8! & A1 H W¢ S ara”
4. All of the above/3dad Tt

Correct Answer :-

« All of the above/3Iudad Tt

24)



A flu vaccination must be given to a person every year because:/ feaal &1

T dRIH & 9 At arfee Fife-
1. The virus can change from one year to the next/ ﬁl’ﬁle{[ ¥-cR-aY Searar 384T §

2. It is too strong to stay in your body forever/ I8 Sa-! Yfaaemel gl & f& 3muds TR A
Ted & form 76T 3§ Fapdl

3. The vaccine dies after a certain period of time/ $& THJ §1¢ dRI- Td 81 Ol §
4. None of these/éﬁﬁ I Hfﬂ'sc :@

Correct Answer :-

« The virus can change from one year to the next/ ﬁw Y-R-a¢ FeadT 3EdT |
25) Consequences of the PEM are mostly:/ PEM & gufRumy 3ifpizma: g-
1. Irreversible growth retardation/ /b Ul q@w

2. Increased risk of mortality/ TRURAdr & Sied | ?{@

3. Low cognitive performance/ f9 I3MTdHS TR

4. All of the above/B’q?EIEH ekt

Correct Answer :-

« All of the above/B’q?j,EH ekt

26) The Annapurna scheme aims at providing food security to meet the
requirement of group:/ 3rAYUI TIST & YT B AaRABATS P
g & foIQ @y JRe&m e R W afdd g

1. Pregnant mothers/ mfadt Ararsi

2. Adolescent girls/ franfeat

3. 0ld age/ oI

4, Critically ill patients/ -9 gIeld CINEURE

Correct Answer :-

. Old age/ gGorH!

27) Immune disorders include:/ UfaRenm fasri & wfia &
1. Hypersensitivity/ 3ifd Sde=itaar (gramR dffefad)

2. Auto immune disease/ WUfaReft (3fict SRI) T

3. Immunodeficiency/ OfcRea GAdl



4. All of the above/ I0dad it

Correct Answer :-

« All of the above/ ITad it

28) High density lipoprotein (HDL) is also known as:/ S - ASWUIEH
(HDL) &t wgd &

1. Bad cholesterol/ aﬁrﬁ@@ﬁa

2. Poor cholesterol/ Hel PR
3. Good cholesterol/ 38T BRIl
4. All of the above/ Iudad I+

Correct Answer :-

« Good cholesterol/ 33T BT

29) No one is immune to AIDS-/ &3 W Tg9 & fav ufarfea &t 81
1. True/ Gl

2. False/ TTqid

3. Cannot say/ %8 78! dbd

4. None of the above/ SIRI& H ¥ HIg el

Correct Answer :-

e True/ Tal

30) Nutritional status is assessed by use of-/ U9l fRUFT HT 3Ha &
IUURT gIRT fahar =rar @

1. Anthropometric measurements/ -'ﬂfl'cﬁfl HYA
2. Assessment guide/ b BRI R

3. Living conditions/ Staq fufear

4. None of the above/G'CIﬁEH e Tﬁ'sc gl

Correct Answer :-

« Anthropometric measurements/ qﬁ‘-rcﬁnnm



In India, severe acute malnutrition occurs in young children (6 months to 5

years) and is the major cause of:/HRRd H B¢ g1 (6 HTE ¥ 5 a¥) # TR deor
FUVUIEAI R AR TE ST U@ BRUI &

1. Mortality/ ARURI@dr

2. Food poisoning/ &1< fasTadr

3. Anaemia/ YadTeUdl

4. Iodine deficiency/m@? T HHT

Correct Answer :-

« Mortality/ TRURIAd

32) They do not supply energy but play a role in regulation and utilisation of

macronutrients-/ 3 &dl &t srrqﬁ' 8l ®Yd, W® gea TIy® deal & fawaor o ST
yftret frumd &-

1. Fats/ 99U

2. Carbohydrates/ & 6”6533
3. Proteins/ WeiA

4. Vitamins and minerals/ fderfeq 3R frRa

Correct Answer :-

e Vitamins and minerals/ faerfim ok farRa

33) All stages of rash are seen in:/ @RI FIN WU & 3@ &1 e g
1. Chickenpox/ EIMEEED (ﬁlﬁlﬁ?ﬂ)

2. Measles/ @I

3. Typhoid/ T®IgS

4. Smallpox/ dd (THTUIT)

Correct Answer :-

« Chickenpox/ BTcl 9ad (Fa@wuieny)

34) As per the dietary guidelines for Indians one should-/ YRd4l gq SRR
fe=m frd=n & U afed &

1. Eat variety of foods from all food groups to ensure a balanced diet/ﬁ'g’l%ﬂ 3TeR
AT s & o gt W aggt ¥ fafts @ uerdf &1 Ja9 &A1 a1

2. Discourage breastfeeding/ WU &I gdldled &1 ANQT




3. Encourage overeating/ 3Taxa&dl ¥ % W &I Seral T a1y

4. Promote high use of fats as a source of high energy /3= 391l & Aid & ®7 § gar3if
F I IUUNT &l g¢ral ST AT

Correct Answer :-

« Eat variety of foods from all food groups to ensure a balanced diet/ﬁ'g’l%ﬂ 3HER
AT FA & fow Gt e ag! § fafis @ uerdf &1 499 o1 91fge

35) The placenta is metabolically active and matures throughout

pregnancy:/ 4T Jwgul THfawr & R Taraey # €Y @ Ifra gl 3 ok ufvus
B! SITel 81 59 I § SIF-91 $Y9 94 82

1. It synthesizes several amino acids and hormones/ H%’ﬁ Y 3 3R Evlril:il' DI
LAY HRT §

2. It transfers oxygen and nutrignts from mother to the foetus/ T8 3fiRiToH 3R Uy
Il ! AT § MR RIg] 9% ugardt §

3. Both of the above/ SURIad gl

4, It is not a part of special life support systems for the foetus/ dg UWW% ICEL
S 3murst =it 7 YT T §

Correct Answer :-

e Both of the above/B'CIﬁT:R‘r AL

36) Consequences of iron deficiency include:/ 3R & HHt & gERomAl &
RIS

1. Negative effects on energy metabolism/ ol T WR AHRIHS THTI

2. Reduced work performance and productivity/ H1 TR 3R IdTeHar § FHH!
3. Increased risk in pregnancy/ TyfgRr § Sifaw o q@

4. All of the above /3dad T+t

Correct Answer :-

« All of the above /BT@EH gt

37) Which of the following is true of chickenpox?/ﬁ% FIRH E""-I'ﬁ q B gt
?

1. Virus is not found in scab/ Tust ﬁ'GlTlI[ T8t firerd §
2. Caused by RNA virus/ RNA faum § ¥t 8

3. Does not cross the placental barrier/ THATEHT ST4T UR 8T ®t §



4. Virus can be grown on the chick embryo/H“ﬁ% Hul Wﬁ'ﬂm Ta4 forar <1 goar 8

Correct Answer :-

« Virus is not found in scab/ qﬂ@[ﬁﬁ'&ﬂﬁﬁlﬁ?f%

38) Recommended dietary allowance (RDA) can be used at various levels as
a basis by policy makers as well as industry as-/ Jifa femfarai siv e g
fafirsr WY wR er=ifdra SmeT¥iy Srgufa (RDA) &1 3R & *u § AT far oI evar 3
-

1. It provides guidelines to understand the essential nutritional requirements for
energy and other nutrients as per physical activity, physiological status, age and

sex/dg IRIR® Afehadr, IRR fharats U, 3mg, Td el & AR SHoil T 3 UiV dadl
P IS WU Jigf IR arsit ol HsH & o fewn Ry e ol §

2. It helps in knowing an individual and his behaviour/ 39 Hfad 3R ITP AR &I

S # Hag et §

3. It provides recommendations for undernourished, obese or sick people/ g Wﬁﬂ,

TSR 1 SR AT & 1T 3H=iETE ueH
4. All of the above/ Iudad Tt

Correct Answer :-

« It provides guidelines to understand the essential nutritional requirements for
energy and other nutrients as per physical activity, physiological status, age and

sex/dg IRIN® Afehadr, IRR fharate R, 3mg, Td el & AR SHoll T 3 Uives dodl
DI TS TV Jral} STIIH 3N & THgH & g fezn e uem w8

39) For prevention of osteoporosis and fractures vitamin D nutrition is as

important as that of-/ &@Eﬁﬂ?ﬂ (m) 3T H@Wﬁﬁﬁﬂﬂ%ﬁlﬁ
faerfiq p vtwor Ia- & Heayui g _orar __ iy

1. Vitamin A/ faeifi= A
2. Vitamin E/ faerf®= E
3. Vitamin K/ faerf&= K
4. Calcium/ dfcrraH

Correct Answer :-

« Calcium/ sy

40) Foods used to enhance the nutrients present in a person's diet or menu

is known as-/3fqd & TER AT JAt A IURRIT WP Tl i ATAT ggM & fAQ UG



1. Supplementation/ YU

2. Complement/ IR

3. Subtraction/ dd&h

4. None of the above/G'CIﬁEH e Tﬁ'sc T8l

Correct Answer :-

« Supplementation/ JYRUI

41) Iodine deficiency in adults could result in:/ YIB! A AT B HHI
IUT Y Ghdl &

1. Goiter with it's complications/ 98T 3R 3! Sfeaany
2. Coronary artery disease/ gad ST & T

3. Dyslipedemia/ feafafugiftmn

4. Megaloblastic anemia/ATsTRe® THIHAT

Correct Answer :-

« Goiter with it's complications/ o7 3R BT Sfeadmg

42) Which condition can result if the calories particularly very low in the
pregnancy, the result is poor energy supply for the fetal brain, possibly

leading to decreased brain development:/af¢ THIGRIT § faRiv =0 & Fat ot
HTAT 95 B4 8§ af SiA-ut fRfT Iua g Iavd! 8 e ufvomaasy miwr Ry &
AT $1 Hul i ATYfd ge ardt § 3R oo afirss &1 faera o0 - e 8:

1. Apoptosis/ TAPIRE

2. Diverticulosis/ fagfear (sRafépaiRm)
3. Ketosis/ IR

4. All of the above/(fq?iaﬁ gt

Correct Answer :-

. Ketosis/ dIcIRMg

43) Which one of the following diseases is not caused by bacteria?/ 3TH 9

HIF-T I SHargsif grRT =1 grem 32
1. Tuberculosis/ & T (CYSRP AT
2. Cholera/ g

3. Tetanus/ feeTg



4. Influenza/ SIS

Correct Answer :-

« Influenza/ SURIUSIT

44) All are true about measles except:/ T & gy # 399 I fFd sisa: 29
gt ac F2

1. Incubation period of 10 to 14 days/10 T 14 a1 & IThga 3@fy
2. More severe in malnourished/ ?ﬂﬁ?ﬁﬁ 3w TR
3. Subclinical infection/ @&UTeIH JhHUI

4. Secondary attack rate is 30%/fedtad 3ThHI &R 30%

Correct Answer :-

« Secondary attack rate is 30%/fediad 3ThHU &R 30%

45) When a pregnant woman has prenatal tests performed, the doctors are
not looking for which potential problem?/ Sid mfadt afgen Wﬁ-‘l‘q‘ T &0T HRardt
? a9 fufr~re fea gnnfaa g &t ger § 9381 gq 32

1. Mumps,/ HUIARNY/ TGS (HH)

2. Down syndrome/ SI3-d ﬁl@'ﬁ

3. Sickle cell anaemia/ T¥fde Tal T
4. Spina bifida/TIEAT d1gfthel

Correct Answer :-

« Mumps/ SR/ TGS ()

46) The primary and most efficient Pro-Vitamin A or carotenoid is the:/ &1

3R IT9 g&f M-Il A a1 FeHTEs o
1. Alpha - carotene/ W-ﬁ‘cﬁ‘[
2. Beta - carotene/ Sicl-HRIcH

3. Gamma - carotene/ TMHT-BRACH

4. Cryptoxanthin/ fpoNfReA

Correct Answer :-

. Beta - carotene/ SICI-BICH



47) The recommended dietary allowance for folate for a pregnant woman as

per ICMR 2010-/ ICMR 2010 & 3JaR THad Tt 7 Bide ot RN meR
3rgafe &-

1. 500 micrograms/day/500 HZeH I/
2. 400 micrograms/day/ 400 ATsH o/ feq
3. 300 micrograms/day/300 s om/feT
4. 350 micrograms/day/350 ATZH A/ e

Correct Answer :-

« 500 micrograms/day/500 AU/ feA

48) Why are non-immunized school age children often protected from
vaccine-prevented diseases such as diphtheria, measeals, and polio?/

farermerdt omy ara sruferféa o= wra: dRAA-fARIfE AN, 99 fewitfvar, @R ok aifemat
anfe & [RfEa i 5 32

1. Because they are still protected by maternal antibodies/ dife 39 g Ht IT&! ATGT

3 e wudierel ST e HR @ B §

2. Because these diseases have been eradicated/ Tifd 39 AT &I T ¥ fovan S gaor
8

3. Because the majority of children are immunized against these disease(HERD

immunity)/ e e o= 9 I & fawg ufeRfad 81d § (HERD ufaRam)

4. Because such diseases exist only in under developed countries/ i T T Had
iy fya =i & Hivg §

Correct Answer :-

« Because the majority of children are immunized against these disease(HERD

immunity)/ i 3w s 39 I & favg uferférd 81 § (HERD ufaRem)

49) Which of the following characterize prenatal development?/ ETI'I?I q B
w9a qd faera &1 Srfiree g2

1. It is the shortest stage of the human life span/ I8 HMd SNad-HTd HT T DIcT aRAT

g

2.1t is a highly critical stage in human development/ I8 T4 fd®T & 98¢ A AR

3. It is the stage during which most development occurs at the most rapid rate/ dg dg

ey g e SR 3iftresier faera ged o i 4 gt @
4. All of the above/3Iudad Tt

Correct Answer :-



« All of the above/3Iudad

50) Carriers are associated with transmission of disease in all except:/ sq'ﬁ I

fra Dre®? AT Tt AN & TR & A1Y qTEH TERIA 8
1. Cholera/ gl

2. Typhoid/ TRIBIgS

3. Diphtheria/%mﬁﬁm

4. Measles/@d3]

Correct Answer :-
« Measles/dd

51) Which of the following disease is caused by protozoa?/ ?Fl'ef T SIH-IT T
WSS & HIRT ST 82

1. Malaria/ HaRT

2. Hepatitis/ gUergfcd
3. Typhoid/ TA®IZS

4. Diphtheria/ femiifean

Correct Answer :-

« Malaria/ HaRT

52) After getting a vaccination-/ AR TEH & dlg -

1. The body never lets the same virus into it/ TR IT fauT] &1 Tad & Hfi-oft arT o=
T B AT R

2. The body always becomes ill for a short time/ R IR g ?—ﬁ@_‘?r Jug & fore SiHR 8t
T §

3. The body gets used to a weaker form of a virus/ TRR ﬁl’ﬂle{[ & &ﬁ&m HGIR TY BT
3 B oIl §

4. None of these/ E:FEI J aﬂ'sﬁ '_'|_E?f

Correct Answer :-

. The body gets used to a weaker form of a virus/ TRR ﬁ'&TQ[% @&WWWW
3V B oIl §



Anaemia in our country is essentially due to-/ 4R ¢X § YadTeqdr (THIT¥AT)
qETd: & DR 3

1. Calcium deficiency/ ik &) HHt

2. Iodine deficiency/ 3Mared &I HH!

3. Iron deficiency/ 3R CakcLil

4. Phosphorus deﬁciency/m Pl HHI

Correct Answer :-

» Iron deficiency/ 3R BT HH

54) An important nutrition problem among preschool age children that leads
to various degrees of growth retardation is known as-/ GafdeTerdt 3R & S= |
B arelt U Hecayut qrvor Jra=i guwr o fafis TR & gfs awe Saa wdl 8-

1. Protein Energy Malnutrition/ WcH 3ol HUISOT
2. Energy Malnutrition/ 3Sil $UINUT
3. Protein Malnutrition/ UiciH $UIyur

4. All of the above/ SWRIFd & ¥ PIs Tal

Correct Answer :-

« All of the above/ SWRIgd H A HI 8!

55) How are diseases and illnesses often caused-/ I 3R STHIAT Ura: foyg
UPR gd 82

1. By vaccinations at a too early age/ §gd &1 B¢l 3 H daii- ara™

2. By bacteria and viruses that attack our body/ THR TRR TR THHAT HA ardl Gﬂm‘qpﬁ
3R faumopsft &

3. By antibodies that get into our body/ AR YRR H YaRI U1 4 dTdl Todiaial 9
4. None of these/37H & P13 Tl

Correct Answer :-

. By bacteria and viruses that attack our body/ AR YRR TR 3HTHHU H dTal SIS
3R fawmopaft &

Topic:- Grad_General Knowledge and Logical Ability

1)



How many rectangles are there in the following figure?/ ﬁ'HGlT?fﬁlﬁ 3Tad i
=T fopat 82

B —

1.7
2.6
3.8

4.9

Correct Answer :-
« 9

2) The salaries of A, B and C are in the ratio of 1:3:4 respectively. If their
salaries are increased by 5%, 10% and 15% respectively, then their
increased salaries will be in the ratio of:/ A, BdYT C & qd9 DI SIJUTd hHRT: 1:3:4
21 9fe 3% a9 H HURM: 5%, 10% TUT 15% Pt gk B AT, oY 3P I¢ §T Ad- &I
HURT: 3UTd TI:

1. 20:66:95
2.21:66:95
3.21:66:92

4.19:66:92

Correct Answer :-
e« 21:66:92
3) Auto clipart is a feature that :/3ifel feTuand Te faRiuar g =i

1. Automatically places clipart in your presentation / ¥&dfeld ¥4 ¥ 30 UsicyH |
faeuand g g

2. Scans your presentation for incorrect spelling in Word Arts objects / CE) e-n'&r
3ffsoiaeg H Tad o=t & T 3! Ui Pl Wpl PRl §

3. Scans your presentation for incorrect spelling in your words on each slide/ [

WSS W3S Nl W TAd Ie-1 & 1T 3! URfd B Wb ol §
4. All of above/3Iudad it

Correct Answer :-

« All of above/3Iuddd It




4) A train X starts from a place at a speed of 50 km/hr. After one hour
another train Y starts from the same place at the speed 70 km/hr. After how
much time will Y cross X, after starting of X? / t{ﬂ?w X @Wﬁﬁ 50 forHl/
°e Pt A T T YR Hdl g1 TP °e q1¢ ot verms! Y Sl R & 70 fouwiae &t nifa
q IO YR Bl 8| Yt X & URT B4 & foha- 9wg 91¢ Y@ Y, ¥emst X &1 R
HAM?

1. 3 hour/ 3 Te

3 3

2. 2¢ hour/ 24 ©¢
1 1

3. 32 hour/ 32 He
1 1

4,24 hour/ 24 He

Correct Answer :-

1 1

. 32 hour/ 324

5) How many members are there in the State Commissions for Protection of

Child Rights? / 7o AT & |07 % 1T =T AT | fohdy 92€7 gid 87
1.4
2.5
3.6

4.7

Correct Answer :-

6) The selling price of 10 objects is equal to the cost price of 8 objects. Find
the loss or profit percentage. / 10 9%] &1 fa%Ha Yeu 8 TG & HY Yod F TR g
ATH T 8T & %o JTd DI |

1. 28% profit/28% dH
2. 20% loss/20% BT+
3. 23% profit/23% Y

4. 31% loss/31% 8T+

Correct Answer :-

« 20% loss/20% BT



7) Scurvy is a disease caused by deficiency of -/ frast ot J Tl T Eﬁ?ﬂ %
1. Virus/ ﬁ'qTfﬂ

2. Presence of Rh antigen in blood/ Rh oA &t Iufufa ReGl o

3. Ascorbic acid or vitamin C /QW% 3 7 faeTfiq ¢

4. Vitamin E / faeTf8H E

Correct Answer :-

e Ascorbic acid or vitamin C /Wﬁ? 3 7 faetfi ¢

8) DIRECTIONS: Which of the answer figures is exactly the mirror image of
the question figure, if a mirror is placed on the line MN?/ fade: e & @ o

IR SATHT U= pfa o1 gdur wfafaa gift afs e gdur ¥ar MN W @ s

Question Figure /T9a HIHfa

Answer Figures / 3ri7 HﬁEﬁﬁT

QA A

(1) 2 @ (4)

1.1
2.2
3.3

4.4

Correct Answer :-

9) Which of the following schemes was also launched along with the launch
of Swachh Bacche Swasth Bharat? / % & ¥ ®9& TISMHT & 919 T9=g 9g T9€ 9T &7
CIERERIRI I 2

1. Kayakalp/ s arsea
2. Swachh Swasth Sarvatra / F==g T 995

3. Swachhta Guidelines for Public Health Facilities / aTasia Tt giagrsi & o Ta=gar
[EEIEEN]

4. Swachh Bharat Abhiyaan / =g wea =



Correct Answer :-
« Swachh Swasth Sarvatra / To=g @& g4

10) To which of the following is the Hindu Succession Act, 1956 not
applicable? / g STTie=r sfafaaw, 1956 A% # & fora SAAAT 9X @] graT 87

1. Sikhs / STE[T FATS & AqATHT

2. Scheduled Tribe / ST AT
3. Buddhists / siigt

4. All of the above / IT%I<h T4t

Correct Answer :-

« Scheduled Tribe / sIgg = ST

11) The average age of boys is twice the number of girls in a class. If the
ratio of boys and girls in a class of 36 is 5:1 respectively, what is the total
ages (in years) of the all-boys in class?/ U& $&T ¥ ds®! o1 3Ta 31g dsfeal ot
BT & L 21 afe 36 BT 3t Fe § ds! 3R TSP B JW=AT ST 3rqUTd HHI: 5:1 8,
o Hem & Tt sl B Fa g @ H) ;T R?

1. 490

2.196

3.420

4. 360

Correct Answer :-

« 360

12) IPV6 is in which format:/3sildl 6 f5a uRsg # -
1. Hexadecimal format / gl SHIHA UR=Y

2. Octal format / 3fldcd YR

3. Numeric format/ <HR® UReq

4. Alphanumeric format/ 31¢9h|r¢1|\3||“<d0 U=y

Correct Answer :-

« Hexadecimal format / %d\Lll SUHd URSY



Which one of the following options is/are not true? / 7% & & ®=aT fAweT gt 78l
g?

1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance
from a joint Hindu family/ &= STx1ferame srfafaaw, 1956 afedt &1 UF d3< fgrg aaw &
A START T SATERTE HIT Al &

2. The Hindu Succession Amendment Act, 2005 gave daughters the right to
inheritance with her male siblings / &g ITATa=TE Femrerd Tfafaaw, 1956 & gT AfeTT &l
FI ATSAT F AT fArea 7 rtershTe e &

3. The Supreme Court in 2010 ruled that daughters whose fathers died before
September 9, 2005 however won’t be applicable for the Amendment / 2010 & Tfiw
FIE o Tg FqrAT =l o afeai % foar &1 gy Frawa 9, 2005 F T4 g3 8, a8 =9 S9e+ g Y&
TR T SrfershTe o WIS A8l §

4. None of these/z# & #Ig g

Correct Answer :-

« The Supreme Court in 2010 ruled that daughters whose fathers died before
September 9, 2005 however won't be applicable for the Amendment / 2010 & Tsf=
FIE F T FATAT 0t (5 afet & foar 1 9o fawaw 9, 2005 F T@ g0 7, 98 39 Se0gd g1 T2+
TR T SrferRTe o YT A8l

14) Since which year did the recent Juvenile Justice (Care and Protection of
Children) Act come into force? / g FT fheNT =T (ATAH! T @G AT GL&qor) Aferf=ae
g aF & 9T T 1AT?

1. 2014
2. 2015
3.2016

4, 2017

Correct Answer :-

« 2016

15) The number of embryonic membranes in human is-/HJ i Horg %T%Rﬂ P I=T fﬁ?h %—
1.2

2.3

3.4

4.0

Correct Answer :-



16) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / o FPrrafafea vy o yyares e ) CRIIE]
TR AT B AT HI ST

? = 43,985 =+ 10.98 x 9.032
1. 0.5
2.10
3.36

4. 45

Correct Answer :-

- 36

17) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / fd=r: fFafafaa vy A ysars g (?) F ®=F
TR TIHI S T AT ATTI?

? = (19)2 x 18.5 + 22.48
1. 6500
2. 6701
3. 6850

4. 6725

Correct Answer :-

- 6701

18) Which of the following ministries launched the Vanbandhu Kalyan
Yojana? / 7= & & :i8 HATAT 7 IAawE FATT ST HT e FhaT?

1. Ministry of Tribal Affairs / ST &4 BT

2. Ministry of Environment, Forest and Climate Change / 93Ta<, a= ¥ Serarq af<adad
HATAT

3. Ministry of Social Justice and Empowerment / ATaTier =Im= i< stferpriar gamaT

4. Ministry of Rural Development / areftor farermer w=merr

Correct Answer :-

« Ministry of Tribal Affairs / ST T4 HATAT



19) Swachh Swasth Sarvatra is an initiative of: / T=g Taey aa= A% & ¥ ot uga
g7

1. Ministry of Drinking Water and Sanitation / 93T 3 Ta=gar #amdx

2. Ministry of Health and Family Welfare / T 3T 9RETT FedToT H3TAR

3. Ministry of Drinking Water and Sanitation and Ministry of Health and Family Welfare
jointly / TISTeT T Ta=gdT HATAT U e 3i¥ TRATY FATT HATAT

4. None of these / z7# & #IE &l

Correct Answer :-

« Ministry of Drinking Water and Sanitation and Ministry of Health and Family Welfare
jointly / ToSTeT 3% Ta=gdT HATAT UF FATES 30T THETE FHeaT00 HATAT

20) Which of the following will come under ‘dowry’ under the Dowry
Prohibition Act, 1961? / =g fAuy srfafaam, 1961 ¥ siavia A # & =T <89 & e
STUT?

1. Property or valuable security given or agreed to be given either directly or

indirectly by the parents of the bride to the bridegroom / geg+ & aTar-foar g1 38 *
T wearer AT stIerer =T & AT ST ATt aFqT A7 qedarT Sia i AT aFT AT & H A 2T

2. Property or valuable security given or agreed to be given either directly or
indirectly by the parents of the bridegroom to the bride / geg % wTaT-foar T gogv +
T sreger AT sTrerer T F 3T ST AT Feqi AT eAaTe T AT ST AT & T TSI gieT

3. Both of the above/39r AT
4. None of these/za# & #IT &l

Correct Answer :-

« Both of the above/39ar=d Tl

21) How many components were there in the National Social Assistance
Programme when it was first introduced? / TET TS GgTAT FTAHT T T
T T« 39 Fohae sraaa 472

1.2
2.3
3.4

4.5

Correct Answer :-

e 3



22) Thesaurus tool is used for in MS Word. / THUH TS ® Thesaurus cd
BT WG & fere fopar wirar 81

1. To correct the spellings / Wi T8l ® & forw
2. To search a text / CRe @ioH & fog

3. Tips for spelling / -t & forg g

4. None of these / sﬂ'ﬁﬁ aﬂ‘éqﬁr

Correct Answer :-

« None of these / sﬂ'ﬁﬁ?ﬁé:@

23) Twenty men or thirty women can complete a work in 40 days. In how
many days will the 24 men and 24 women together complete the same

work? / 20 T3V a1 30 HfgaTd U &1 3t 40 fa # &% Ihd &1 24 Afgart 3R 24 39
THATY I B F fora fa=) A & god 82

1. 30
2.40
3.60
4. 20

Correct Answer :-

24) In which year was the Right to Education made a Fundamental Right in
the Constitution of India? / Wdi¥ dfaema ® fovear srferspe & wifers srfga< Fra ag &
FATIT 4T AT?

1. 2008
2. 2009
3.2010

4. 2011

Correct Answer :-

« 2010

25) Haemoglobin is:/ AT & U:
(i) The colouring matter of leaves of plants/ 9g UIul # SUfRId T T ueref &

(ii) The colouring matter of blood / ¥&d &1 T eI &



(iii) A compound that is highly coloured / U 3= = ua'ref%
(iv) A compound that contains iron / TP 3T o qiftre %
The correct answers are: / T 3UR g

1.1, 11 and iv

3.1, ii, iii and iv

4. 1, ii and iii

Correct Answer :-

26) The antibiotic 'mitomycin' is used to treat certain types of: / 'FI'IEaﬁFT T oifa® foed T &1
AT A | ST Pt ST §:

1. Cancer/ W T
2. AIDS/ TSH

3. Polio/ TR

4. Syphilis/ HTHeg

Correct Answer :-

« Cancer/ &b I

27) Which state was the first in India to introduce Mid-Day Meal Scheme to
increase the number of kids coming to school? / 9%a & &7 ¥ Tsa 7 et §
AAATH TG T GeAT 7 Fhg A * fore -3 fier Treer &t sreesy B o2

1. Gujarat / @@
2. Maharashtra / ag@rg
3. Tamil Nadu / Tfee a1

4. Karnataka / #d1es

Correct Answer :-

« Tamil Nadu / af#e 91

28) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements. /31 T foUT 7T wxA A 0 FY 3R ITP 918 $© Frepd faw 7w 1 st



feu T Y B GG AT 8, WA 81 @ Hdd aa F = udia g1 8 | I et @) ufew
mgﬁm%mwﬁwﬁﬁﬁﬁqmaﬁmwﬁmmiﬁmaw
O [

Statements: /HY:

All cats are bats/H'l-ﬁ ﬁ%’lﬁ,m%

All bats are tables/H‘l-ﬁ JHITGS, ﬁvr%

Conclusions: /fspd:

I. Some tables are bats/@ﬁﬁ,ﬂﬂﬂﬁ@;%

II. Some tables are cats/@ﬁﬁ,ﬁ%ﬁf%

1. If only conclusion I follows /H%Wﬁﬁb_ﬁfl &IENTUTW%

2. If only conclusion II foIIows/H%WﬁWﬁf II B@TUTW%

3. If either conclusion I or II follows/afe a1 dt fpy 1 a1 11 &WW%
4. If both conclusion I and II follow /af¢ fswe I SR II FT ARV H3d &

Correct Answer :-

« If both conclusion I and II follow /afg fssd I 3R II T TRV Hd &

29) Mobile phone uses:/HIETSd BIF SUART HIdT -
1. Full duplex/%d g&idd

2. Simplex/ Rrgeieg

3. Half duplex/ 8% S&idd

4. None of these/ 38 I ®Is g

Correct Answer :-

« Full duplex/%d ST

30) What is the ratio of Centre and State funding for establishing Ashrama
Schools in states? / 3= T=at # s fAemedt samfia #39 § % 14 ST & Ao § =4
AT T 82

1. 50:50
2.60:40
3.70:30
4. 80:20

Correct Answer :-



31) Vishal walks 2 km towards South. He turns right and walks 3 km, and then
he turns left and walks 5 km. Further, he moves 2 km after turning to his left.
What is the total distance travelled by Vishal?/ ﬁmz%tﬁaf&mﬁmﬁm
21 98 31¢ g 3 fortlt aaar 8, fpe a8 918 gear 8 oM 5 {5l aaar 81 oiv sia d ag @i
geox 2 ftdt aear 81 fa=ma gr1 a9 ot it $a gt fovasit g2

1. 7 km/7 Tt
2. 12 km/12 fouit
3.5 km/5 foodt
4.10 km/10 foodit

Correct Answer :-

e 12 km/12 Tt

32) What is the shortcut to open the File Open dialog box? /WTsd 31U AN
T DI 3T FA & AT Aede #t Hi9 AT 82

1. Alt + F12
2. Shift+F12
3. Ctrl + F12

4. F12

Correct Answer :-

« Ctrl + F12

33) DIRECTIONS: Find out missing number from the figures given below./

fordar. e & i srrepferat # g w= wiTd BT

4% 202 104 191

1.6
2.9
3.13

4.2

Correct Answer :-



34) The difference between compound and simple interest on a certain sum
for 2 years at 5% per annum is Rs.55. Find the sum. /f&=ft 311w Twpafs sare
TUT ATYROT TS BT 3R 2 T A 5% Ufeaay o1 g3 A .55 81 AU J7d B |

1. Rs.18000/%. 18000
2. Rs.22000/%=. 22000
3. Rs.19000/3. 19000

4. Rs.25000/3=. 25000

Correct Answer :-
e Rs.22000/%. 22000

35) With respect to the Child Marriage Act, 2006, find the incorrect sentence
out of the following options. / = faaTg srfarf= =, 2006 F Twtfaa A et § & Toq
oreT &7 =97 FY)

1. This law is also applicable to citizens of India beyond India / 7§ ATaRaw7 w=a % a8
AT AR 9T AT A1) 8

2. This law is applicable to whole of India, except Jammu and Kashmir / o2 stfarfare
STHY 3T FEHIT % STATAT X 9 H AN &

3. Both of the above/3ur 34T
4. None of these/z«H & IS gl

Correct Answer :-

« None of these/z ¥ & #1< 72

36) DIRECTIONS: Choose the missing terms out of the given alternatives./

ferd: fog g fawedt # & g val 1 19 ¥ |
_bb_c_bg_b_g

l.cbgbc

2.cgbchb

3.cgbcc

4.gbcbb

Correct Answer :-

e cgbchb



37) Which of the following methods cannot be used to edit the content of
cell?/ frafafaa fafltal & ¥ 19 A Ia 1 Hée @1 Gurfed H1 & fore Iuai 7 fpan
ST AHdT 32

1. Pressing Alt key / Alt @ﬁ qd[h

2. Pressing F2 / F2 QdI&dX

3. Clicking the formula bar / Uv‘l'liFIT TR P fodd HIb
4. Double clicking the cell / 9d &1 Sdd fadd Hdb

Correct Answer :-

. Pressing Alt key / Alt $Gil GaTHR

38) In which year was the Ministry of Welfare bifurcated into the
Department of Women and Child Welfare and the Department of Welfare? /

FNIY 4 § FHEATT FATAT FT AigdAT TF ST T8 AT AT Foeqmor s § fors=s fBoraT m37?
1. 1984-85
2.1985-86
3. 1986-87
4. 1988-89

Correct Answer :-

« 1985-86

39) The Persons with Disabilities Act, 1995 ensures the Right to Free and
Compulsory Education of persons with disabilities until years of age. /
frereri=r =xf=e srfarfa, 1995 & siavia UL % Y T faweriv1 AR & forg 07 Ta
srferaT freaT T srfdreT fear T & |

1.16

2.17
3.18

4. 19

Correct Answer :-

- 18

40) What is responsible for metamorphosis?/®ATAdROT %1%11 W gidT 8-
1. Estrogen/\’rﬂ@aq



2. Thyroxine/?-l'lgﬁmq
3. Parathormone/aﬂ T

4. Glucagon/ "B
Correct Answer :-

e Thyroxine/ TRITR

41) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women cannot be called ‘Sati’?/ gt afafy (Twemw) stfafaaw, 1987 %
Fautq A & | A AigATst 7 ‘T ¥ Aot § T qG1 A7 qohdT 82

1. A woman being burnt alive along with the body of her relative voluntarily / 7= ®fgaT
TIF=hT ST Jaeh q¥aeell o g % AT 37 TAoa T aF ST [9d7 ST TET 8

2. A widow being burnt alive along with the body of her deceased husband forcibly /

UF WiAT ST ST qOa T % I % AU STALEEAT STl (<37 S 7T 2
3. Both of the above/39%r# THT
4. None of these/z7H & #IE gl

Correct Answer :-

« None of these/za% & FIE L!

42) Who decides the order of priority of work in MGNREGA? / =TT & FTH &
ITITHRAT T FF I FHIF [A0T Aar 8§72

1. Central Government / &g %

2. Ministry of Rural Development / ITHToT fareme ®31T
3. State Government / T FLHTT

4, Gram Sabha / 39 |97

Correct Answer :-

« Gram Sabha / 319 |97

43) To create a new table, in which method you don’t need to specify the

field type and size?/U% 3 drfa®l 9911 & forg, ford ugfa & smus! wits Uer 8k
ThR FfEy e A srazgsar 81 @72

1. Create Table using wizard /f3%TS & gRT ¢9d ST

2. Create Table by Entering data / SICl Q§°f & TIY g ST

3. Create table in Design View / Ir%\ﬂlsr-l B’;Lff ENACEIE]

4. None of these/ 370 q &I Tal



Correct Answer :-

« Create Table by Entering data / SICI QEff & TIY <A §AT

44) “Food grains” under the Food Security Act, 2013 does not mean:/ @1
AT ATIAH, 2013 F ATA 6 | F FHIA9T “GraAT" & A qal ar?

1. Rice / =T«
2. Wheat / g
3. Coarse grains / T AT

4. Pulses / 11

Correct Answer :-
e Pulses /3t

45) If the numerator of a fraction is increased by 200% and the denominator
1

is increased by 400%, the resultant fraction is 120, What was the original
fraction?/ Tf¢ T fUH BT 3 200% FSTAT WU 3R X 400% FTAT W1 af gfvoms firs 1
1

20 gh | e e foperam ar?

3
1.14

46) Which answer figure will complete the pattern of the question figure? /

e ¥ & o1 3t ST N Y snpfa &1 qui wit?
7 T
= N B

$ // A_A A4

(a) (b} [(a] {d)

o




2.b
3.C

4. d

Correct Answer :-
e d

47) How many districts have been selected for the Beti Bachao Beti Padhao

initiative? / &t T=Te ST TRt Ugw o forw fhaw et v AT 4w 87
1. 50

2.75

3.100

4. 125

Correct Answer :-

« 100

48) Insulin controls: / E'ﬁﬁlq frifia sear &
1. Todine level in the thyroid / UT8RISS H 3MTAITST BT AH

2. Amount of iron in the blood / Iad & (_'h% CARAIEN

3. Level of sugar in the blood/ X T 6T P A

4. Level of urea in the blood / I Qﬁtﬂ CARIE]

Correct Answer :-

e Level of sugar in the blood/ Ydd T RGBT AT

49) Identify the diagram that best represents the relationship among mobile,

television and electronics./ 38 3RW I &t HIGTEd, Ao 3R sATEID & TeA
el HaY BT A==90r e 3

=

oy
| |
A

s

s
) Rl

, OO



4.

Correct Answer :-

50) The formation of archenteron starts in/3ITH=CIT-T BT 9T YRH ﬁ?ﬂ %—
1. Morula/ A1Sal 9

2. Blastula/ sTIRg3HT 3

3. Early neurula/ URIY S gl q

4. Early gastrula/ RIS ﬁET’IT |

Correct Answer :-

« Blastula/ SARGSHT I

51) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ féxr: fFafafaa g ard &1 wrmyd® srera w7 g mo uy
& I difvr

Percentage wise Distribution of students in six different Schools./6fafyw

faemerl ¥ ufo=margaR o &1 faavor

Total number of Students /% STAI B JTAT = 6000

school fIgaraT A
12%

School /RTaRTT F,N

School fATATT 8, 9%

School fAGATNT €,
20%
School/MTamET C,
26%
School fagae™ O,

18%

What is the difference between the total number of students in School-F and

School-E?/ faemed F iR faenmed E & $a ST & 9= § |1 3fav 82

1. 1820



2. 1860
3. 880

4. None of these /378 I ®Is 8!
Correct Answer :-

« None of these /sqﬁ‘@faﬁ'sc:lﬁ

52) How many Adarsh Grams have to be developed under the Saanjhi
scheme till 2019 by each MPs? / 3% Ti9al gTXT ATt FISAT % iata a9 2019 T fhaw
=t AT FT AT FAT T2

1.2

2.3
3.4
4.5

Correct Answer :-

3

53) Anil introduces Rohit as the son of the only brother of his father’s wife.

How is Rohit related to Anil?/3if~@ Jfgd &1 ufvay sxarar g.f Afea sae faar 1
Uil & THHTT UTS &1 G 81 Afeq, oifa A 5 vor awifia 82

1. Cousin/® oA
2. Son/4d
3. Uncle/dTdl

4. Son-in-law/<qlHlq

Correct Answer :-

« Cousin/ oM

54) This disease is caused by the deficiency of protein. Can you identify it from the given options?/

W &1 Bl F S A7 gt 8,1 fawen Tae vgafw

1. Goitre AdIgCR (‘a."EIT)
2. Kwashiorkar/ ®TRISNRBI

3. Hypokalemia/8TIAIb Il
4. Dermatosis/ SHEIRTT

Correct Answer :-



« Kwashiorkar/ BTRISIR®GR

55) If 'Bus' is called 'Aeroplane’, 'Aeroplane’ is called 'Train' and 'Train' is
called 'Ship’, then 'Jet Airways' comes under which category?/ gfe 99" 3l

"fuT et SITan 8, 'famT @ e T T 8 SR e &Y 'SgT $al Wil §, 91 'S
TaRaw e @t o smar 32

1. Bus/dY¥

2. Aeroplane/ﬁ'ﬁlﬁ

3. Ship/igTSl

4., Train/éff

Correct Answer :-
« Train/¢A

Topic:- Grad_Managerial Skill

1) is a process of receiving and evaluating information about our

behaviour:/ , TN AR & IR § TSR e HA R Geidd e B
m%:

1. Channel/ HT9H

2. Message/ ERee

3. Feedback/ HEGCY (Tﬁaﬂ‘r{)
4. Encoding/®18 (TABITST)

Correct Answer :-

. Feedback/ ®Igs® (TAHARM)

2) The leader required in extension work is :/ foaR &l A sravus

Tq@edais __ :

1. Caste leader/ SIfavId =dl

2. Local functional leader/ RIHg SR =dl
3. Lay leader/ 3fdiféra %cdd?dlr (@r dreR)

4. Religious leader/ T =T

Correct Answer :-

. Local functional leader/ R HTHRME AdT



3) Groups are classified into primary and secondary group

by :/ RT 9El &1 iyl ud fidiae augl # wifea fear man 3:
1. Summer/JH

2. Cooley/ el

3. Mac laver/ & dax

4. Karl max/mﬁaﬂ

Correct Answer :-

« Cooley/ Fait

4) is the planned display of models, specimens, charts, posters etc.
aimed at instruction, judging in a competition, advertising or

entertainment./f&ft ufeuyf, fagmea a1 g9Rw= ® fAdwr &1, ol A/ AP R
dfera arsal, TA1, arferers, st onfe & o wexiA &t Fed &

1. Field trips/ &3 Tm=MT
2. Exhibition/ UcgHt
3. Poster/URex

4. All of the above/3HUR & gt

Correct Answer :-

« Exhibition/ CIGQH

5) Community development blocks after completing the scheduled period of
operation were called 1 /<ared @t Fruffea safu @ PR A1 & qIG HHala
faora Gsi & T ST oT:

1. Traditional blocks/ TRHR® WS
2. Post- intensive blocks/ TU9-UYTd WS
3. Modern blocks/ 3TYf«® Tg

4. Intensified blocks/g=1Yd ©s

Correct Answer :-

« Post- intensive blocks/ Tg9-UYTd We

6) Group discussion method works best in : /g T4t fafy |
TdAg Bt BRAT B:



1. Tense and inhibited atmosphere/ d-Ta¥Rd Ud SARIYH II'I?IFT
2. Permissive and inhibited atmosphere/ Idaderdt T4 3faRIed HIEId

3. Group haring democratic and permissive atmosphere/ Apaie Td WaFdrar e
CINKE

4. None of above/ B’q?ifﬁ T ¥ I ol
Correct Answer :-

« Group haring democratic and permissive atmosphere/ AP diAd Td WaAdrar! e

CINKE
7) Community development projects were launched by VAL L
oo aNaIeAe _ gRT 3Re 3t Tt

1. Pt. Jawahar Lal Nehru/ Uf&d Sarer a1d Ag
2. Dr. Rajendra Prasad/ €l. 6l UTG
3. Dr.C. Rajgopalacharya/ 1. 3t IeaTareTd

4. Sardar Bhallabh Bhai Patel/ IReR Scay UTg Ucd

Correct Answer :-

« Dr. Rajendra Prasad/ . I6i% U9TG

8) Two decoding skills are:/ & SiHIsd I 8
1. Writing, listening/ a“@:[, Hqu]

2. Reading, listening/ o, Hdul

3. Writing, speaking/ oed, araq

4. Reading/UeHl

Correct Answer :-

« Reading, listening/ Ud-, 44Ul

9) On the basis of nature and quality of social interaction groups has been
classified into:/ ATHTIN® 3IfhdT ®I UPHTd T UEET & SATUR TR TG DI |
iffpa far mar &:

1. Primary and Secondary/ Wyfi® T4 fgdias

2. Genetic and Congregate Groups/ 3MTdfRI% Td ThAd T8
3. Small and Large Groups/ &g Ud fa=Iel 99g



4. Involuntary and Voluntary Groups/3ff<s® Td s g

Correct Answer :-

« Primary and Secondary/ Wi Td fgdiasd

10) The normal group boundaries gate obliterated in:/ ¥ g qYg
HHTY / gR J9TE 8 W @

1. Method demonstration/faf¥ UgxH

2. Farm and Home Visit/WH Td TR TR gaT®Td
3. Office Calls/®Taied Hid

4. Campaign/B{f\ﬂ-FQT:r

Correct Answer :-

« Campaign/3if¥aH

11) The type of leader who has received specialized training and is paid for

the field wok is called 1/ Agca®di (AdT) BT 98 TR o faiw ufkreor firen
2 R R S o1l ¥ RT yaE fPaT waT R, S &

1. Autocratic Ieader/ﬁWﬁFﬂ

2. Lay leader/3fEifard Adadmdl (A wex)
3. Professional leader/ URIGR Aqddd!
4. Democratic leader/dlddiAd Adl

Correct Answer :-

» Professional Ieader/aT-ﬁERﬁ—q’c_dT\'ﬂC

12) The degree to which a communication source is perceived as trust
worthy:/ ®13 ¥R &d fHa wWR a@ faya-ia 9= s § 98 w):

1. Active listening/ Tfhg 4aur
2. Credibility/ fayg-iad
3. Interpersonal/ 3iddafaded

4. Passive listening/ fsHg sqor

Correct Answer :-

« Credibility/ fayg=tad



13) The term “community development” appears to have originated from
at summer conference on Africa Administration:/ I “94qr fasra”,
I TR R ATFTATaRGT S 9 Froven vl @1 &

1. Cambridge/ St

2. San Francisco/ I WiRR®D!
3. St.Louis/ ¥¢ &Y

4, Geneva/@ﬁﬁﬂ

Correct Answer :-

. Cambridge/ &fas

14) Extension methods which reach large number of people in a single
attempts are called:/ T& WG9 ¥ g8 J&AT § AN a9 Uga- arelt fovar fafimi
FHgard! &

1. Large method/ foame fafer

2. Mass method/ gdor fafy

3. Multi-media/ Hecl-Hifsar

4. Multi purpose method/ Sg3s=dy fafd

Correct Answer :-

« Mass method/ gdui fafy

15) is posing new challenges at the global and local levels:/ ,

e ok =T w—Y W T gt 9w e €
1. Development/ fawrg

2. Communication/ TR

3. Maroecnomic/ §gG3Tii®

4. Growth/ fg

Correct Answer :-

« Development/ famrg

16) Which determines group life?/ 9Yg sitaq &1 fHufRor #19 #ar 82
1. We-feeling/ §H &1 UgdTH

2. Feeling of unity/ Ushdl &l Tgdr™d



3. Common purpose/ dHI B%QEI

4. All of the above/3 TR & JHI

Correct Answer :-

« All of the above/3WR & Il

17) The operational stage of community development project which was to
be completed in three year has the duration of : /9gera fawra ufare
&1 a8 Wl o 9 o o gt fapar s o1, &Y erafdy 3t 0t

1. 3 months/3 HIg
2. 9 months/9 HIg
3. 12 months/12 HIg

4. 18 months/18 HIg

Correct Answer :-

« 18 months/18 HIg

18) Choose the most important reason among the following for failure of
rural development programme in India :/ MR H I {919 SrdeH 3
fawear o1 e Agayul HRT g4 :

1. Poor planning for planning/ ¥RId dig ¥ faeE

2. Problem of effective monitoring and Implementation/ UHTal TR Td g ot
HHY]

3. Lack of resources for programmes/ Rzl %ﬂ THTeA] BT 3HTd

4. None of these/ 3:|'~ef q aﬂ'sﬁ '_'|_E?f

Correct Answer :-

« Problem of effective monitoring and Implementation/ gyTat fRTT T wrafa &t

19) is a traditional mode of mass communication:/ , S

HOR $1 uRAERS fawr

1. Television/é?ﬂﬁiﬂ

2. Newspapaper/ JHRR-UA
3. Radio/ Xf&al

4, Internet/s'aﬁ'c’



Correct Answer :-

 Newspapaper/ SHHR-UF

20) The development is a process through which human and material

resources are activisted for improved quality of life and : /faera T
wferar 8 o a1erm A Ag ve Wifaes Jareel & dgav Ssfitad Jurasn aur cg
fere wfora forar e @:

1. Change for creation/ §qi+ %@ BIRChE]
2. Income generation/ 31 guiq
3. Life style/ Sfiggicit

4. Education in nature/ Ui o fRign

Correct Answer :-

« Income generation/ 319 oI+

21) When the leader has no confidence in himself and believes that workers

can do the work as :/Wﬁﬂ(ﬁﬂﬁﬁf)ﬁ&mﬁmqﬁiﬁmﬁﬁmé
o srdwdat a1 % G@d g, 9 T A4 B Pl o1l 8:

1. Democratic leader/ A&diAd Adl

2. Autocratic leader/ ﬁw T

3. Lassies faire leader/ 3fg¥aardt =dr

4. Lay leader/ W&lﬁﬁm (@r deR)

Correct Answer :-

« Lassies faire leader/ W@'Cﬂ T

22) Group discussion method work best in : /g Tt fafy |
A9y &1 B @

1. Tense and inhibited atmosphere/ THTEIRT U9 3(aRIe® AR
2. Permissive and inhibited atmosphere/ Idadert T4 3faRIed HTGIA

3. Group having democratic and permissive atmosphere/ Adbdie Td WaAdrar e
ard 9g

4. None of above/‘o’q?jaﬂ 0¥ PIs Tal

Correct Answer :-



. Group having democratic and permissive atmosphere/ @& di® Td Wdaderl AR

CINKSE

23) Community development block were started in :/9Yqr™a fowra @s
T IR fHd W &

1. 1952
2.1954
3. 1956
4, 1958

Correct Answer :-

« 1952

24) Three main components of communication:/ IdR & d= S Ych g
1. Channel, receiver, feedback/ Hlﬁ, W, ETI?I‘E[@

2. Source, channel, receiver/ %ﬁ?{, IIT‘f, T di

3. Source, receiver, feedback/ Hd, Wi, Ufag®

4. Source,channel, feedback/ @ﬁ, nm‘, Qﬁl@@

Correct Answer :-

« Source, channel, receiver/ @T—[, mﬁ, U di

25) Each project area in community development block was each consisted
of 100 villages and population of 60,000 to 70,000 : /9qerg fawrg ds |
Ud® UfAieT &3 | 100 717d 94T 60,000 I 70,000 3t e e &

1. Three/ @i
2. Four/ IR
3. Five/ UTg
4, Six/ &:

Correct Answer :-

« Three/ GG

26) P.A.Sorokin has divided groups into major types:/ W. €. RIfed = Igl &
@ uprR § furfea forar 31 3 8



1.'In-Groups’ and ‘Out-Groups’/ ‘3<RHg’ (39-JU) 3R ‘afgdyg’ (3M3e-7u)
2. Involuntary and Voluntary Groups/ 35 Td Ufesd 98

3. Horizontal Groups and Vertical Groups/ é’?’mﬂ%@ Eﬁﬂﬁ[\g

4. Primary Groups and Secondary Groups/mﬂm e ud fgdas REE

Correct Answer :-

« Horizontal Groups and Vertical Groups/ érmw;sqa Eﬁﬂ'&%’

27) Group discussion is suited to which among the following stages of

adoption _______:/ 3fteur & 399 ¥ g wur & wye =t Suged @
1. Awareness/ ST dl

2. Interest/ 3fd

3. Trail/ Ucfg (¢d)

4. Evaluation/ gl

Correct Answer :-

« Evaluation/ Jcdihd

28) The motivational phase in training is more considered called 1/

ufRreror # a8 WUt wRur v if¥e wew foam smarn B, FHgardr &:
1. Preparatory phase/ JRY TROT

2. Pre-training phase/ URI&U-qd ==ur
3. Training phase/ UfR&01 7RI

4. Post training phase/ UfRA&0T-THTd TR0T

Correct Answer :-

« Training phase/ URI&OT TROT

29) Limitations of audio visual aids are:/ TXU-Yc YgTdP JTHRII /IUBIUN BHI

Hreme g

1. Learners may form mistaken or distorted impressions/ Riemff e a1 fagrd YROME &1
qHa &

2. Temptation for the teacher to narrow down his teaching only a few big ideas not
giving the complete picture of subject/ &MU®H BT U AU B 59 $S 9 AR
A dH AT B BT A SR [T FF T TR 81 &1



3. qusible risk of ‘spectatorism’ instead of an attitude of thoughtful enquiry/ EERNIE
Sa-U8dTd & Y DI I ‘VedhdTe’ &1 JUTd Sifad

4. All of the above/SWR & Tt

Correct Answer :-

« All of the above/3WR & gH

30) Which of the following is more closely related to the social inequality?/

T8 ¥ DI GRS AT ¥ 3fe gHiuaT § gwafRa 82
1. Social dynamics/ ITHIfSI® Tt

2. Social differentiation/ grATore fadeH

3. Social stratification/ STHITH TR

4. Social control/ITATIN® fHg=0r

Correct Answer :-

. Social stratification/ ITHIN® TRUT

31) is complementary to the development of human faculties, traits

and human nature:/ , A9 faaal, d&0 9T 741 Upfd &1/ e 3
1. Classes/an

2. Groups/dHg
3. Kinship/J M=l

4. Society/JHTS

Correct Answer :-

« Groups/d¥Hg

32) is probably known as ‘blood relationship’:/ P JHTd: Yo
TR’ & 9§ ST 1T 8

1. Cluster/ =8

2. Clan/ @4
3. Kinship/ ST

4, Kith/¥dslq

Correct Answer :-

« Kinship/ I=dT



33) A definition on “A social group is a system of social interaction” was

given by:/ “HTHTNS HYg, ATHINS 3r=<1fhar @1 T Yumrel! 3 g8 ufyrar
T &) Tt ot

1. Ogburn and Nimkoff/ 37 Td fAHSIH
2. Harry M. Johnson/ %QQI TH. NIGRE

3. R. M. Maclver/ 3R. T, Hhddx
4. Marshal Jones/H i oI

Correct Answer :-

« Harry M. Johnson/ e T, 9T

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Fafefad e &1 wmyde yeo: 39@ HH fad T agfawadt uxei o w8t
fawea &1 a9 B

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (0OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

HrgeR ftrew ufwr=med, Sudtear ffadt vd wu wifa 8t 1 §1pc wif 3= Sudiear & 39 8¢ a& iU d
It B fr aga A amme # Suaarsit 7 3 Ge & gy fEesa vd fawRa o ol § iemaifes, sa d



T, TTal W IS IUGT B P T & 1T R favgasg vd &g uTaT $evt%h a1 S 781 gar
?139% Sifalvad, gTaifd TS auR Ft ANTd ge IE1 §, W ITHIOT SRV & forg warfied &) o anma st o
FTB! AP B 1 gAaH FU I ATaIS T+, S PC, WISH, U wRivarger, filer Ft araaurary o
TIFEATR (0S, STAY, TH ATUANT, 9 +t A &) &) argdy anTd Fa-wR-ufaeary & AFds & YR ),
WHR A TR AT JaTE 9 H1 &b 30 STANT BT Iy Rieg 78 7 urelt §1 & Suwor ga wied!
Syaferd g1 9 8, 3R urHior & ¥ 31t TeRaTd anTd iR § | adH anTd Wl UR SO anTd T
UM & TR 9% UgaA & U fHues Jearesd o1 57 SUBIVIN BT SUINT HRd U B TP g goi Tfafaferai
@orh gt 1 g T @ b aga @ are & Ot sararie WHTeT dieg T8 R, iR aRk diee 2 ft R, ot
W T Hara® T3 T I Ra B3 3g uikiiéa 16t § | 38 Serdt urdtor sy & fore v greaaR v
TIFUR THTUT YRgd B BT VAT $R T2 ¢ | TN RS $1 RS ae (CorDECT) Wit 3k
fipTter Rew ur. 31, &1 H1ger RN ugel & e IeTe0T ¢ | A WIS RIS Iedh!, WedaR Ud gad i
RRen & 1Y YR qUT IR FAfaefad) Farur faeRia #vd &1 M &1 91l 8 ¥ 37 el s
TR R Iedre, Uritor gy & fore Iuged Ud anTd-$RId Mrenfifeat ae- smem, 998 fRa MSSRF
areftor freY 2 Suged Wit fewrgs &3 A sroft e s 3@ 21

Government related information service just on the bases of return on

:/ TR UfaaTH & YR R IRER A =R g1 94

1. Appropriate criterion/3Ugad HIMGS

2. Investment criterion/ﬁa'-‘zr aFce
3. Partnership criterion/IT3IGRI AMCS
4. Integrated criterion/J#fd AMGS

Correct Answer :-

« Appropriate criterion/3Ugdd HMGS

2) DIRECTIONS: Read the passage and answer the questions that follow./
= Fafafad T @ aryde tees 39e T A T sglieelt ux=t & 9 e &1 aa=
DI

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.

Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.



The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

TR 1 FRIAHRE (dfe W sRgHFaR A, e ord 8 argm w=Ar), smug o
IS 9 aTdd Hbdl MR Aharagw & faal & SughT & A1ead A T Id a1 I9E 4 gan
I g1 JYE aF difed Y UgaH & $d &l $ad 8| TR Th WM A gax R St @1
UgaTH $T I HIA 8 ISTdiTP Tg Uh JIA-HIYRYI URUTYT 8, W &4 87 39 a1 | drad &
o g0 R $Q FR god g, a1 g fAwy sga wfed 99 Sa1 8 1R F Al afvr § e
et off g oy = I & 5 ufea &t a&d! 1 SR & fafira afor o =nfire €

I W19 91T 91 Hifee/Mfe® R ATHA-ITHA, 9w, IfSar a1 Soiifaw ug o=
"I |

MNP TIR: IR Bt UTT, YT-URMTE, g9 F& Uik ugd a1 F1d Hd § - 98 ab
& gurdt T=i/57 Wi

fafa dar: 1, $-09, [ad, e, Se3qe a1 39 ATHEHl & SJivu|
m?wm@mmmmwmmwﬁﬁﬁwﬁaw
TPd gl

AR $T 4RI (A99) =X, 9, W (Se1sd) (S 9a #) R Wit (2few), wror
fagaadgeeny, mmﬁm%lwmm%mma?ﬁwﬁlw
& 3ATS UCH § Wid, W, TPIsH, AN, Spisq, uraedt, ufayfd vd g1 59 Afsd &1
faorg @1 aral # IR RNigideR Fare 94, faeay T Tp1H wd I T a1 3=
A A1 AT IR A U & TS IUGHT & BRI Afgdg 71 a1g 76, 9aR
HepTH® gial 8, Uaaufre T8 I9aR & qraveT ufhar @ e R &1 e -

W™ fan wraT §; afe 39 THarwT R o 91, 9t seH-ve ¥ STt 3 foras gar=n
I gl Bl

Communication is derived from: /3 HTRIAHTM, yTaT 9 foram mam @
1. Greek/ Ui

2. Latin/ dfeT

3. French/ %hd

4. None of these/ 319 ¥ ®Is &l

Correct Answer :-

. Latin/ dfeq



3) DIRECTIONS: Read the passage and answer the questions that follow./
frd=n: fFraferfad i ) earyde yest 39d A R 14 sgfawelt u=l § 9E) fawey &1 9a+
DI

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.

Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.

The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

TR a1f FRIAHRE (afe W sRgHeaR A, e ord 8 arem #=Ar), smug o
U 9 aTdl Hbdl 3R Aharagw & faal & SuahT & A1ead I T 9 a1 I4E 4 gan
I g1 GYE aF difesd 31 Ugaq & $7 &) Fed 1 AR TH R A O R DI g1
Ugd &1 $d ATA 8 ISTei1P 98 Th TA-ATUROT TRYTYT 8, TR o9 87 39 IR § Hiwd &
% 70 OR $Q R G@d g, a1 I8 fAwy 9ga sfea 99 9ar B 1R 9t Al afvw § e
forft oft Ty faly R 390 @ +3 ufed 8 godl §1 WuR $t faftira Sfry & wnfire @

I S 91T 91 Aifee/Mfe® R ATHA-9THA, 9w, IfSaT a1 Soiifaw wg o=
HIHAH |

IRMGP TR YRR B UTHT, YT-UFRMTE, 30 H ufvyT= Ug-d a1 i Fd § - Tgi a&
fr gAY I/

fafa dar: 1, $-09, [Rad, e, Sexqe a1 3= ATEHl & S|

W?Wmmmmﬁaﬁﬁﬁmwmmaﬁwﬁaw
J&hd gl



TOR PT ART (A9d) T, 9, W (SFEd) (S99 3a H) 3R wff (o), uror
fagaadaaty, mﬁamvmﬁmﬁm%ugaﬁmﬁsﬁ%mmﬂw%lw
F TS 9P ¢ HId, oW, TIdre, 9, Sdred, uraedi, ufagfy vd < | 59 aica &1
faerg $31 el # TR frgiaeRr ware 94, faear A7 Tp1H T e BT 947 3=
Mra A1 AT FER Sd U & TS SUFHT & HRT SHfgeda 21 a1e 76, ¥OR
Tgpraid® gidr g, Ufawuufcare 78 19 U aravwT ufehar 8 o faar) &1 simeM-
m?g;m%;vﬁsﬁmmmﬁmm,ﬁm-mwm%mﬁm
IqA |

List of verbal communication/QTI'%EF TR BI ﬁiﬂ
1. Face-to-face/ 3THA-ITA

2. Gestures/ g1d-HId

3. Television/ é?ﬂﬁﬁﬁ

4. Logos/?ﬁ‘lﬁ

Choose the correct answer/ I&l 3R %ﬁ

1.1 and 2/1 3R 2

2.2 and 3/2 3R 3

3.1and 3/1 3R 3

4.4 and 1/4 3R 1

Correct Answer :-

« 1and 3/138R 3

4) DIRECTIONS: Read the passage and answer the questions that follow./
= Fafafad T o aryde yees 9@ - f3d T sgfawaht uxi ° udt fawe o199
P

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.



Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.

The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

AR a1 RgAHIE (A 3 sear |, e ok g arsm svar), s #
U AT 918 Hbdl MR Jbafagr & ot & IuahT & a1eay A Uh 9 a1 9YE I g
I 91 JYE a@ difed 3 Ugam & $d & $ad 8| TR Th WM A ga R S I
UgaTH $T g HTA ¢ ISTHiTP Tg Th IXA-HIURYT GRUTT 8, TR &9 87 39 918 | 9rad 8
o g9 JUR A HR GPa 7, 9@ 98 fAwg aga wfed a9 omar 2 1IER & fafie aftr € ik
ot oft T fadiy R 39 A +3 ufed 8 a@dt §1 WaR 3t Al aftry & =nfire &

T S 91T 91 Mfee/Mfg® IR ATHA-ITHA, oiwiH, IfSar a1 Soiifaw= wd o=
I |

TP FAR: TR B UTHT, HT-HIHATE, 39 1 g g-Td a1 S FXd § - Jgi aP
o gaRt =I/5T

e Jar: 1=, $-09, [Rad, e, Se3-e a1 3= HIHHi & S|
wm@mmmmmwmﬁmm
TPd gl

TOR PT ART (A99) X4, 9, W (SFEd) (S 3a #) 3R wff (2few), wmor
fagaageaen, mmﬁmﬁlwaﬂ%mm%WWMW%lw
& 3T °UTH ¢ Hid, WeR, TABISH, AN, Sdted, urasmdat, ufayf® vd g<if| 59 afsa &1
faerd $31 aral # TR frgiaeR sars 94, faear A7 Tp1H wd e B 947 3=
MAE A1 AT AR 3 U & TS SUEHT & BRT g 81 ITe 7@, TR
YgPTaTH® gidT g, Ufauufe 8l I99R U Sravwr ufspar g oA ey &1 sieM-

wer= fan sran §; afe 39 ThaRwT o) e 9, 9t eH-ve ¥ Tt § e gar=n
IF gl g1

Channel of communication can be?/ HdR &1 ARt €f Hbdl %:

1. Visual/ €9

2. Tactile/ WY (THT3d)
3. Auditory/ 48

4. All of the above/3Iudad Tt

Correct Answer :-



« All of the above/3Iudad Tt

5) DIRECTIONS: Read the passage and answer the questions that follow./
frdz: Fafafad T #) aFgde yees 3ud A 3 T agfawadt uxei o 9t fawew &1 99+
B

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.

Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.

The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

AR a1 RgAHIE (A 3 separ |, e ok 8 arsm sar), s #
U AT a1 Hbdl R Jbafagr & ot & IuaT & a1eay A Uh 9 a1 9YE I g
I 9T g a@ difed 3 Ugam & $7 & $ed 8| TR Th WM A ga RIH S I
UgaTH $T I HIA ¢ ISTITP Tg Th JIA-HTURYT URUTT 8, TR &4 87 39 918 | dad 8
o g9 JUR B HR GPa §, 9@ 98 vy aga wfed 591 omar 2 AR & fafis aftr € ik
forft ot T faRly R 39 A +5 ufed 8 a@dt 31 WaR 3t Al aftry & =nfire @

T S 91T 91 e/ Migd IR ATHA-ITHA, oiwiH, IfSaT a1 Seifaw= vd o=
I |

IRMf® aR: IR BT UTHT, YG-URMEE, 50 FA ufvyr ug-d a1 &1d $3d § - Tgi a5
5 grRt T=I/5T

fafea ¥eR: uF, 3-09, q&ad, a1, $ev-e a1 39 HTHH] & Sivu|



wm@mmm@mwmaﬁmm
|
Wmnﬁ(%ﬂ?r)m yog, Wy (SaeTsd) (S 9 H) 3k el (3fdw), uror
mﬁamvm%ﬁm%waﬂ%mmﬁﬁ%mmﬂw%lw
%mw%@mﬂ%ﬂ,qﬂﬂﬂﬁ,qﬁ,@aﬁﬁ,mﬁmwﬁmwmm
faoprg @1 aral § IR RNigideR wie 94, faeaR T TpTH Td I 5T a1 3=
M Y| TG FER S UTYT & ATIS ITANT F SR Afgd g g1 a1 76, 9aR
TePIATHS BT 8, Ufaeaufcares 8} INAR U SravwT ufhar @ s faRY &1 sieH-
m?g;m%;vﬁgﬁmm%mm,ﬁm-mwmémm
IUA I

According to Claude Shannon’s model, there are elements:/ FATSS

U & Alsd P AR TP BId o
1.5
2.6
3.8

4.7

Correct Answer :-

- 8

6) DIRECTIONS: Read the passage and answer the questions that follow./
= Frafafad T @ aryde tees 9@ - A T sgliwalt ux=t & 98 fdwe w1999
Gy

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.

Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.



The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

TR T1f FRIHRE (dfe W sRgHeaR A, Rraer ord g arem #=Ar), smug o
I 9 aTdl Hbel 3R Aharagw & faal & SughT & A1ead A T 9 a1 e 4 gan
I 91 g a& difed o UgaH & $d & $ad 8| TR Th WM A g R St I
UgaTH $T I HIA 8 ISTdiTP Tg Th JIA-HIYRYI URUTYT 8, W &4 87 39 a1 | Hrad &
o g0 R $Q FR god g, a1 g fAwy sga wfed 99 Sa1 8 1R F Al afvr § e
forft oft Ty faly R 390 A &5 ufed 8 godl §1 WaR $t fafira afvry & wnfire @

I S 91T 91 Hifee/Mfe® JOR: ATHA-ITHA, 9w, IfSar a1 Soiifaw g o=
"I |

M P TAR: IR B HTHT, HTF-HAMTE, 30 HA aive= ugaa a1 &1d Hd § - ggi d&
5 gurt /53

foafa dar: 1, $-09, [ad, e, Se3qe a1 39 ATEHl & Sivu|

W:m@aﬁm@mﬁ%?ﬁﬁ,qﬁmm@wﬁﬁﬁmw
|

AR PT 4RI (A99) =X, 9, W (SFesd) (S 9a H) R Wil (2few), wror
fagaadgeeny, mﬁhﬂﬂmﬁwam%lwaﬁmm%mmw&w%lw
¥ TS UCH § Wid, U, THIsH, AN, SpisH, uraedt, ufayf® vd g<f| 59 Afsd &1
fapTa o34 Tl § JAR fUgideR Faie 94, faeay a1 B9 Ud Iad H 9T 3
A A1 AT IR A U & TS IUGHT & BRI Afgdg 71 a1g 76, 9aR
Tehraid® gl 8, ufteuufare 78 I99R U SravwT ufshar g e faaRY &1 smeM-
W?g;ﬂ%ﬂ%sﬁwwﬁmmﬁm-mwm%mm
IA |

Human communication is unique for its extensive use of language:/
TG §OR YTYT & SATYP SUGRT P HIROT S 8:
1. Verbal/Qfsg

2. Abstract/\?ﬂ?f
3. Interpersonal/3iddafadd

4. Oral/Af@®

Correct Answer :-

. Abstract/&l'ﬁljf



7) DIRECTIONS: Read the passage and answer the questions that follow./
frd=n: fFraferfad i ) earyde yest 39d A R 14 sgfawelt u=l § 9E) fawey &1 9a+
DI

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.

Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.

The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

TR a1f FRIAHRE (afe W sRgHeaR A, e ord 8 arem #=Ar), smug o
U 9 aTdl Hbdl 3R Aharagw & faal & SuahT & A1ead I T 9 a1 I4E 4 gan
I g1 GYE aF difesd 31 Ugaq & $7 &) Fed 1 AR TH R A O R DI g1
Ugd &1 $d ATA 8 ISTei1P 98 Th TA-ATUROT TRYTYT 8, TR o9 87 39 IR § Hiwd &
% 70 OR $Q R G@d g, a1 I8 fAwy 9ga sfea 99 9ar B 1R 9t Al afvw § e
forft oft Ty faRly R 390 @ +3 ufed 8 godl §1 WuR $t fafia afvry & wfire @

I S 91T 91 Aifee/Mfe® R ATHA-ITHA, 9w, IfSar a1 Soifaw wa o=
HIeAH |

IRMH JUR: IRR Bt YTHT, YTF-URMTE, 30 FA Ui Ug-d a1 i Fd § - Tgi a&
fr gAY I/

fafa dar: 1, $-09, [Rad, e, Sexqe a1 3= ATEHl & S|

W?Wmmmmﬁaﬁﬁﬁmwmmaﬁwﬁaw
J&hd gl



TOR PT ART (A9d) T, 9, W (SFEd) (S99 3a H) 3R wff (o), uror
fagaadaaty, mﬁamvmﬁme‘rm%ugaﬁ%mw%sﬁ%mmw&w%lw
F TS 9P ¢ WId, HaW, TIre, °, Sdres, uraedi, ufagfy vd < | 59 uica &1
faerg $31 el # TR frgiaeRr ware 94, faear A7 Tp1H T e BT 947 3=
Mra A1 AT FER Sd U & TS SUFHT & HRT SHfgeda 21 a1e 76, ¥OR
Tgpraid® gidr g, Ufawuufcare 78 19 U aravwT ufehar 8 o faar) &1 simeM-
m?g;m%;ﬁsﬁmmmﬁmm,ﬁm-mwm%mﬁm
IqA |

Communication is :/9AR graT 8:
1. Collaborative/Sg®Hc®H

2. Competitive/ﬂﬁl@fw

3. Both of the above/m'clﬂ@_rﬁ

4. None of these/3TH ¥ ®Is ol

Correct Answer :-

« Collaborative/Jg®ATHD

8) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 3@ AR R M sgfaw«dt uxi & W&t
fawey &1 799 B

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (0OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./



FIeR 3iftrew fwT=ed, Sudtaar featt vd wu Tdfa 8t 1 §1pc wif 3= SudidaT & 35U 8¢ a& qHiu d
T & 5 95 A arwel & Sudiaarsit 3 3 Ge ¥ guanT fewig vd faefRa #- i & 1gTife, gra &
T, Tl # 39 SUGRT B JTH g1 & forg R fawgasg vd &= 4T $ehg T91HT ST e g
21 59% Jfafad, gTeifes TEAUR $t ANT Ue TE1 §, W ITHT Sy & fore Tanfir &) a anra snft o
FTE! AP B 1 gAqH FU A ATaIS T, W PC, WSH, U Riyarger, e # anaaurary o
AR (0S, STEH, Td VAT, o WY A1) &) B arsad anTd Fasr-R-ufdary & arMds & SMUR |,
WHR T GrERId FaAT TS U H1 & 37 STANT H1 3itferey Rieg 781 S urehl €1 & SuHR0r 9gd wieg!
Sryaferd gl e €, iR umedtor &= § 39} TeRaETd anTd Sifte € | adu anTd Wl W SOt anTd feTa
UM & TR a9 Uga- & ¢ fHUe Jarasd o 571 SUBIVN BT STINT HXd U B TID 3Tg goi Tfafaferai
Qe gl | g ura @ 6 aga @ Are § O saraie Sy dieg T R, ok aft divg @ o ), o
W 9 S 3 FHTYT fIeRid B3 3g uRRiféa 7 8 1| F% St unior v & e wwd e R v
A AUR THTYT YRd B BT VAT B 13 ¢ | TN RS $t PR IE (CorDECT) Wt 3R
AepTier Rew 1. 1. #1 Hrgex Tt gdl $ 3= IQTER0T § | A WIS IS U], WIreadr Ud Yo |
RRen & 1Y TR TUT TARAH FAfaefad! THTY e Hd €1 3 &1 okl 8 % 39 Reni s1ae
TR TR ST, UTHUT SV & fiIT SWgad Ud anTa-$=1a MenRieai d e, a9 fRId MSSRF
yretor Y 3 Sugad Wenfie feemga #3A # spft o1d $r 38 21

has brought them closer to the uses to the extent of using

computers:/ ¢ PSR UGN I B g a% SUdraarsi & U & St g:
1. French revolution/ Wi &1 HIf=d
2. Industrial revolution/ 3N i

3. PC Revolution/ PC I
4. None of the above/3udad # ¥ H13 gl

Correct Answer :-

« PC Revolution/ PC A

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 3@ AR 33 M sgfaw«dt yz=i & w&t
fawe &1 799 B

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several



entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

FIgex i AfFa=mett, Sudiaar feadt vd wu Tl 8 1 §1PC wifvy 378 ST & 33 8¢ ad I a
3t B 6 aga @ armal d Sudtarsit A 3rA e & Sy fEwins ud faw R #= o € 1Is1aifss, gra &
T, Tial A 3P SUART B TH I & forg e farwaasg ud & HTST Sexth a1 ST =18t g
?139% Sifalvad, gTaifd TS AR Ft ANTd ge IE1 §, W ITHI0T SV & frg warfirg &) o @ andt o
FTB! AP B | <gAaH FU I TGS T+l 9 PC, WSH, U wRivarger, filer $t araaurary o
TIFEIR (0S, STAY, TH ATHANT, 9 ot ar] &) &) argdy anTd Fa-wR-ufaeary & AFds & YR |,
WHR A TR T JaTE 9 H1 & A0 SUANT BT Iy Rieg 78 7 urelt §1 & Suwor ga wied!
Syaferd g1 9 @, iR uretor & § 3ot TeRaTd anTd Sifte § | adu anTd Wl W SOt anTa feTa
UM & TR a9 UgaA & U fHaes Jearesd & 57 SUBIVI BT SUANT HRd gU B TP 3 goi Tfafaferai
@i gitft | 5o uran @ fr aga @ wrwal 3 it sararfyes duraer divig T 8, ik afe tivg ® W @, fras
W T Hara® T3 JETYT faw g B 3g uikiiea 16t § 1| 7% Serdt urdtor sy & fore o greaaR we
T TR THTYT YRgd B BT YA $R T2 ¢ | TN RS $1 RS ae (CorDECT) Menfiiat 3k
Y Ider Rved U1, 1. &1 Hvgex Uit ugal & 31 STeRvI ¢ | 3 TS GRIST e, Wivedar Ud ad i
Ren & 1Y YR TUT IARA FAfaefad) T faeRia #vd &1 M &1 51l @ ¥ 37 Rreml s
TR W ST, AT ST & fie Sugad Ud anTd-$Rra Menfifeat e smem, a9 fRId MSSRF
aredtor e o Sugaa Menfiet fEers o= ¥ srofl wrd s ¥l 81

Several entrepreneurs are attempting to offer inexpensive solution
for rural applications:/ ®3 SgH! JTHI0T GITjCI'q"}'iT & fou 9=t HHATYUTT Udd
B BT TITH IR I8 &

1. Software and ICT/ §IU¢ddqR T4 ICT
2. Hardware and application/ gTSdaR TG SFIVANT

3. Network and software/ Scdd Td 0T

4. Hardware and software/ BTedaR Td JIUcadiR

Correct Answer :-

« Hardware and software/ STSa¥R Ud IUcdaqR

10) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd e & aFyd® TeH: 39 4 3 T sgfawed! u=ai & 98t
fawea &1 a7 B

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets



like PC, modem, powerstabilizer, and printer along with the license cost of
software (0OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

FHIgex A AfFa=mett, Sudiaar fFadl vd wu Tl 8 1 §1PC i 378 SWIedT & 33 g8 ab I d
M & 6 a5 A arvell & Sudiaarait 3 3 Ge F guanT fewirs vd fae R #- i & 1gTeife, gra &
T, TTdl H SP SUART BT GTH T4 & I RIFT fawgasg Ta &5 UTT $ex%d -1 ST 81 o
2139 Afafved, BTaife FTSIUR Ft A1Td ue TG &, W ATTvT SguanT & fore Tarfired Y ot @rra 3aft off
BT SARIF B | gAaH T A ATTLIS Twal, 9 PC, WSH, TR Riyamger, fiey #l ara oy &
TIFEATR (0S, STV, TH AU, 9 ot A &) &) argdy anTd fFaR-wR-ufaeary & AFds & R |,
WHR T GrRId FaAT ATE U H1 & 377 STANT H1 3fiferey Rieg 781 S urehl €1 & SuHRor 9gd wieg!
SyEfera 81 wrd €, SR Imiior &= # 391t IR@Ta AT 31t &1 I AT Rl WR S anTd fAeTa
UM & TR a9 Uga- & U fHaIees Jaresd & 571 SUBIVIN BT SUINT HYd U AB TP 3Tg Goi Tfafaferai
Qe gitft 1 5 ura @ b aga @ Are § O saraie uraaT dieg e R, ok afe divg @ o ), o
W T HaTas 73 FHTYH faeRid S og URIEd 18 ¢ | $5 STl ArHoT SIguaT & forg e gréddar ud
TIUR THTYT YRd PR BT VAT B T2 ¢ | TN RS $1 RS ae (CorDECT) Mt 3k
Aepider Reed o1, o1, &1 Hrge? Ut ugdl & 3 Ieevvl § 1 A WIS I Ued!, WreduR Uq gad Hid
Rien & A1y TR TUT IRRAT SAfdefadt U fAe R $vd 81 10 &1 ot 8 fF saRreni w1
TR R Iedre, Uritor Sy & fore Sugad Ud anTd-$ =i Menfifeat ae- e, 998 fRIa MSSRF
greftor e 3 Sugea et fewrs @ o snoft wrd e v 81

MSSRF based at in doing pioneering work in designing appropriate
technology for the rural poor:/ fRra MssRF arHtur AT 3 Sugaa
wrenfire feomss w1 & spoft & 3% W3 3

1. Chennai/@?!‘sc
2. Madurai/ﬂ@ir

3. Coimbatore/aﬁﬂm"g:\’

4. Punjab/dvid

Correct Answer :-

. Chennavaﬂé



11) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd s # aFyd® TeH: 39 4 3 T sglawed! uxai & 98t
fawea &1 a7 B

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However , till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (0OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

IR e Afwa=medt, Iuaiaar fFadt vd w0 @i g1 1 §1PC wif 37 SUdadl & 59 88 a® aHiu
3t B 6 aga @ armal o Sudtaait A 39 e & Sy fEwins ud faw R #= o € 1sm@ifss, gra &
T, TTal A IS UGN B P T & 1T R favaasg vd &g uTaT $ext%h a1 S 81 gar
2139 Afaf¥ed, Taife FTSAUR &1 A1Td ue TG &, W ATvT SguanT & e Tarfire 1 ot @nra 3aft off
PTW! ARIP § | YAqH U F IS Tdl, 9 PC, WS, UlaR Wfyarger, fiiex ot anaaur ary o
TIFEATR (0S, STAY, TH ATUANT, 9 ot @] &) &) argdy anTd - wR-ufaeary & AFds & SR ),
WHR A TR T JaTE 9 H1 & 30 UGN BT Iy Rieg 78 w7 urclt §1 & Suwor ga wied!
SyEfera 8 wrd €, SR Iiior &= # 391t IR@Ta ATTd 31t &1 I anTa TRl R S anTd AT
UM & TR a9 UgaA & U fHues I o 57 IUBVN BT SUGNT HYd U B TP g goi Tfafaferai
Qe gift | 5 ura @ 6 959 @ Are § O sraie SuraAT Hieg T8 €, SR afe dieg § +f ), e
wWTH T HaTas 3 FETYH faeRia H- og URIEd 181 ¢ | $5 STl ArH0T SIguaiT & forg e grédar ud
TITFUR THTYT YRd B BT VAT B T2 ¢ | TN RS Bt PR IE (CorDECT) Wit 3k
Reptier Rven w1, 1. &1 Bregex T vgdl & 3/ SATE0 & | A WIS SIS Uedh!, Wireddx Ud gad Jid
Rien & A1y FTER TUT IRRAT BAfdefadt U fAeH R $vd 81 10 &1 ot 8 {5 sa Reni w1
TR R Iedre, Uritor gy & fore Suged Ud anTd-$ =i Menfifeat ae- e, 39S fRIa MSSRF
greftor <A 3 Sugea et fewrs 3 o sroft wrd e v 81

owners and operators are not trained to develop new solution:/
_ arft ud Tarae T8 guTd faeiia # 3q ufifia T8 €
1. ICT

2. MSSRF



3. Kiosks/ f&aRe
4. None of the above/ 3Udad & ¥ &5 gl

Correct Answer :-

« Kiosks/ foare

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd s & aFyd® TeH: 39 4 33 T sglawed! uxai & 98t
fawea &1 a7 B

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (0OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

FHIEER e Afwa=medt, Iuaiaar fFadt vd w0 @i 81 1 §1PC wif 37 SUdadl & 59 88 a® aHiu
3t B 6 aga @ armal o Sudtaait A 39 e & Sy fEwins ud faw R #= o € 1sm@ifss, gra &
T, TTal A IS UGN B P T & 1T R favgasg vd &g uTaT $ext%h a1 ST 781 gar
21399 Afaf¥ed, Taife FTSAUR &1 ANTd ue 6 &, W ATHIvT SuanT & e Tarfired 1 et @rra 3aft off
FTG! AP 81 gAaH FU A ATaIF T+l S PC, WISH, Ul wRigarger, filer $t araaurary o
TIFEATR (0S, STAY, TH AN, 5 ot @] 8Y) #) argay anTd Faw-wR-ufaery & aFds & SuR |,
WHR A TR T JaTE U H & 30 STGHT BT Iy Rieg 78 w7 el 1 & Suwor ga wied!
Syaferd g1 Sird 8, 3R UrHior & ¥ 311 TeRE1d anTd iR § | adH anTd Wl UR SO anTd feTe
UM & TR a9 Uga- & U fHaes Jaresd o 57 SUBVN BT STINT HYd U ABTID g goi Tfafaferai
@i githt | 5o uran @ fr aga @ wrmal d it sararfyes Tt digg T 8, ik af tivg 8 W at, fras
wWTH T HaTas T3 FETYH faeRid H3 og URIEd 78 7 | $5 ST ARH0T SIguaiT & forg e grédar ud
TITFUR THTUT YRd B BT VAT $R T2 ¢ | TN RS Bt RS aE (CorDECT) Mt 3k
Aeptier Rven w1, 1. &1 Bregex Tt vedl & 3/ SATE0 & | A WIS SIS Uedh!, Witeddx Ud gad |
Rien & A1y TR TUT IRRAE SAfdefadt GHTY e R $vd 81 M &1 ot 8 {5 saRreni srae



TR R Iere, Uritor gy & fore Iugad Ud anTa-$=ia Menfifeat ae- smem, 998 fRIa MSSRF
arftor FrefHY ¥ Suge Mefie fesms= &3 § sproft ed s 3 21

The kiosks operation will have to find alternative activities:/ fral®

HAAD! B dHIUD nfafaferi @rert gi:
1. Future generation/Hfds o

2. Economic generation/ i SEE

3. Revenue generations/ 31T Joiq

4. Social generations/ JHIS o

Correct Answer :-
« Revenue generations/ 31g guiq

Topic:- Grad_Child Care and Education

1) Faigtest of sound can be detected at:/ g‘—ﬂmmmﬂm it eafa 9t
dgars:

1. 0 decibels/0 SRTed@

2. 0-10 decibels/0-10 S

3. 10-20 decibels/10-20 SR
4. 20-30 decibels/20-30 SRed

Correct Answer :-

« 0 decibels/0 Sfsd

2) Sociocultural cognitive theory was propounded by:/ '\‘IT'FITWWW
TS fagid T ufaured A fwar T

1. Vygotsky/ w
2. Piaget/ oot

3. Maslow/ Bwall

4. Kohlberg/ CARER]

Correct Answer :-

« Vygotsky/ f@rmcw®!

3) HIV can be transmitted through:/ Tg3sdl ... § bd &l gl



1. Sweat/ GHHT
2. Saliva/ dR

3. Urine/ HA
4. Breast miIk/II\T"$ [

Correct Answer :-

« Breast miIk/II\T"$ [

4) Which among the following is not the feature of special education for the

disabled?/ 379 A P4, 3=l ¥ faRw g Y faivwar 781 82

1. Instruction and teaching strategies should be individualized/ 3@‘&[@?3{%

Ut Jafaded gt @Ry

2. Sequencing the task in such a way that it begins with the tasks a child can perform
and gradually lead to complex learning/ T P Y UBR &jqolri\-ld H1 fo a8 W Hraf
3R B I8 91 B bl g1 3R dR-¢R Sifed Siftnm ot iR sg

3. Inculcate the spirit of competition among the classmates so that they can prove
themselves to be better than the other children/ Tgurfadl & A9 # ufawgef &t yra=r
S Al d W Bl 30 gl W dgaR Rig o |

4. Those abilities should be developed in the child that will enable them to perform
the everyday tasks of living independently and enable them to become productive/
St § U A fasRid o1 Sl e T S 3% sitad & fe-ufdfe & o1l &l Wdd U 4
FRA T 3R ST §- § IAY §1¢

Correct Answer :-

« Inculcate the spirit of competition among the classmates so that they can prove
themselves to be better than the other children/ TguTfadl & A9 # Ufawgef &t yramr
YT Al o WY B 3 T O IgaR R Y AP |

5) What percent of reservation is provided to the disabled government
educational institutes / government aided institutions by the Ministry of

Education?/ R1&m Arad faain IReRT Aféie TR / SRR ASTIdT U I DY
fopam ufer=rd SMRET weTH H T 82

1. 3 percent/3 Ufa=Id
2. 5 percent/5 Ufd=d
3.7 percent/7§|ﬁ|‘-‘2lﬁ
4. 10 percent/lOEIﬁF\ﬂ?r

Correct Answer :-

« 3 percent/3 Ufaeid



6) Pre- conventional, Conventional and Post conventional levels were
propounded by:/ Td-URWNR®, RS T4 UY-URTWNS W] $T Ufdure-T gRT
fopar ar T

1. Freud’s psychosexual theory/ 138 & HAIGRG (FH:H1H®) Rigid
2. Piaget’s theory of Cognitive development: g & SIS faw™ &1 Rigid
3. Kohlberg’s theory of morality/ ®Iaeri & Afddar &1 Rigid

4. Erikson’s theory of Psychosocial development/ URGIH & HAANTHTNG [dH T BT Rigid

Correct Answer :-

« Kohlberg’s theory of morality/ Fraai & Afded o1 Rigid

7) The theory propounded by Bronfenbrenner emphasizes:/ SHb8-R gRT
wfaurfed Rigia ... W@ ar gl

1. Biological context/ Sifg® uRuien

2. Cognitive context/ TIMTH® URUET

3. Environmental context/ gty ufkied
4. Psychosexual context/ TARe TRt

Correct Answer :-

« Environmental context/qﬂfawﬁﬁqﬁa&q

8) Which among the following is not a form of pre-speech communication?/

39 A B, Yd-a19 Halg $T TP U 81 82
1. Crying/ﬂ:ﬂ

2. Cooing and Babbling/ &SI (%% HRAT) 3R YT HAT

3. Gestures/ gTd-HTd/HRHATE
4. Sentence formation/ a1 AT

Correct Answer :-

. Sentence formation/ are fAmfor

9) A person who is ignorant about what the social group expects rather than
intentionally violating the group standards is said to be:/ 98 Sfad T HgaTdl &
St TS THE & ATP! BT AIGIHR I 8] B I8 § I 39 Ig F14 7181 & 5
TYE T UST HIT 32



1. Moral/ EIRGA

2. Immoral/ 3% (FHRA)

3. Unmoral/ﬁléﬁ?m (G{Hﬁf??l)

4. None of these / 378 ¥ &5 g

Correct Answer :-

. Unmoral/ﬁ%(m

10) Visual acuity can be measured by:/ %ﬁ?ﬂmmwmmﬁmmm%l
1. Hoover cane/ E?Ra'ﬁ (aFD

2. Prosthetic device/ HTEHTT T

3. Orthotic device/ 3T (3T T TGRT ¢ aTel) I

4. Snellen chart/ LENE G

Correct Answer :-

« Snellen chart/ AT T

11) Which type of child rearing practice is ideal for fostering creativity
among children?/ g=i # IEATRNEAT & 9¢1aT ¢4 & AT fFg USR &1 919 ura- Sy
3mexf 82

1. Democratic/ B dIf~ad
2. Overprotective/ 3ifcReft
3. Permissive / aoiTgIT

4. Uninvolved/ 38y

Correct Answer :-

« Democratic/ @& dif~d

12) Which among the foIIowmg is not the purpose of developmental tasks?/

9 A P, fApTaTH® Sl &1 yaie J8 82

1. They act as guidelines to help parents and teachers to know what children should
learn at a given age./ 3 ATdI-fUdT 3R SieATUH| P T S & TR & & fob Tt 31y
o=y o o=t 1 o’ e @l Ul

2. Developmental tasks serve as motivating forces for children to learn what the
social group expects them to learn at that age./ f[A&TITES &1 g ®I d ISl YREaH &

o IRe 9l & U H B B3 g ol JTHIIS THE 374 39 MY H R o1 3087 a1 ¢ |




3. Developmental tasks tell parents and teachers what will be expected of children in
the immediate and remote future./ fAGMT® HTd ATT-UdT T 31eATTSH! HT §dTd § fob
fde vd Y Hioss & a=df I &1 suien giftl

4. Developmental task increases the intelligence of children./ GRS &1 g=i B

gfer & 98 #3d B

Correct Answer :-

« Developmental task increases the intelligence of children./ famrarEs o s B

a8 g Hd B

13) Children are able to reason on the basis of hypotheses and propositions
in which stage of cognitive development?/ TS faerg 9t 59 sawr A g
gieweuATel 3R ufagtral & SR W a& &34 ° gud 81 &rd 32

1. Sensorimotor/ YdaRTATAS (FTHICR)
2. Pre-operational/ qﬁ%rmw

3. Concrete operational/ 319 dfssardid

4. Formal operational/3Ng=niRe Tfsrares

Correct Answer :-

. Formal operational/3Nu=TRe dfpares

14) Which among the following is a type of Learning Disability?/%ﬂﬁﬁﬂ*ﬁ?@
SfATH 3ITeRTAT BT UPR B2

1. Monoplegia/ THRTITT (HHIGIToTT)
2. Dyslexia/ U 3oy (Feaafaaan
3. Spasticity/ 3ifddMdT (TReRTE
4. Epilepsy/ &W(ﬁl"ﬁ)

Correct Answer :-

. Dyslexia/ U3 doed (FSgafdyan)

15) Monitoring of the ICDS scheme is the responsibility of which among the

%ollowing Ministry?/ 3TSA1SITH AT &1 FFRRTL &1 SR 599 A f5d u=<ray &1

1. Ministry of Child Development/ ATHd ¢ fasmmg d31e™
2. Ministry of Health and Family Welfare/ %14 Td URAR &edru] HATe™

3. Ministry of Social Justice and Empowerment/ ITHTfSIdb <10 T4 S TRAT HArad



4. Ministry of Women and Child Development/ Afgdl Td §1d fa®brg dAre™

Correct Answer :-

« Ministry of Women and Child Development/ Afgdl Td &1d fddbrg dATe™

16) CHETNA stands for:/ 3+ (FTTagITAT) &1 IRT AT §:

1. Centre for Health, Education, Training and Nutrition Awareness/ g WT%%QU, Q\ggb-‘eld,

2T U T QTR (T, e, UfRieru ud i el )

2. Central Health, Entertainment, Training and National Awareness/ @EE%?U QE?%:@T:’
S+ U8 XM SHATRAY (T WA, HARGIH, UiRIEU1 Td AP SIreehn)

3. Central Holistic Education for Training and Natures Awareness/ @Eﬁmw
BIR T Td o faTR-Y (UTRIE01 Ud Ui STl & fold dhara Iad e

4. Centre for Human Education, Teaching and Nutrition Awareness/ dc3 iR ga94
TR, T U8 IEIRM 3atR-9 (HTHd fR1gf1, (&0 Td Uivul S adl %)

Correct Answer :-

« Centre for Health, Education, Training and Nutrition Awareness/ g WT%%QU, Q\ggb-‘eld,

<71 T8 IR 3faR-9 (TR, fRiaf, UfRI&or Ud UiV el &g)

17) The Indira Gandhi National Disability Pension Scheme (IGNDP) is

%rovided by:/ $fe=T Wi I fyaaiTer U2 AT (SMSSNTASIH) ... GRT W& B wredt
|

1. Ministry of Social Justice and Empowerment/ JTHTfSId =g Ud TG TIRAT HATe™
2. Ministry of Rural Development/ JTHIUl fd®T HAag

3. Ministry of Personnel, Public Grievances and Pension/ Tﬂ%, Wﬁmﬂ@"a‘lﬁ
HATH

4. Department of Disability Affairs/ fqaaire & favm

Correct Answer :-

« Ministry of Rural Development/ JTHIUl [d& T HATGT

18) The red ribbon is a symbol for:/ AT WIdT ... WW%I

1. Being cautious for catching a HIV infection/ TSI HHU B IUc § 34 & Ufa Iraer

Rl

2. Identifying HIV positive people and those suffering with AIDS/ TgeEd! uifsifea |
3R Ty Hifsd @il ! U= A

3. Solidarity with HIV positive people and those living with AIDS/ TI3MTsd! uffetfed @
3R Tgy ifsa anil & 1Y Thgledr



4. Danger of combatting HIV infection/ TI3MTSd! IHUr msﬁ & TR

Correct Answer :-

« Solidarity with HIV positive people and those living with AIDS/ Tg3Msd! utferfed @
3R Tgy Yifsd anl & 1Y Thgedr

19) The first stage of learning in which the individual learns what is required
in the task and certain specific components of the task is known as:/ SR

P 98 UG AT T Hgard! g Forad suferd ag ST 8 &l # &1 3axy e g 3R B1d &
7o fafky geo 1 82

1. Cognitive stage/ T3S TR
2. Association stage/ W(Qﬂ'l ATIH) SATRT
3. Automation stage/ XadTdq AdRIT

4. Realistic stage/ gurfardl sraru

Correct Answer :-

« Cognitive stage/ TIMIHD AR

20) The Right to Free and Compulsory Education Act, 2009 makes education
a fundamental right of every child in the range of:/ f:3c® T 3if-ard fRrem &1
Sf¥eR erf¥if=rm, 2000 R1em &1 ... Ft Mg a8 Td S 9= BT TP Hiad AfUSR g1 21

1.2-18 years/2-186|'5f
2. 3-15 years/3-15 ay
3.6-14 years/6-147ﬂf

4. 4-18 years/4-18 GL

Correct Answer :-
. 6-14 years/6-14 %

21) Formal technique of organizing material to increase the likelihood of its
being remembered is called as:/ wmsﬁwﬁrﬁaﬁq%ugﬁmaaﬁ%mm
DI S/ RIT H B TS TH-tP Bl ... HBT AT B

1. Memorizing/ aIg Al
2. Concept formation/ 3/@¥Rurn fAAfor
3. Interference/ 3{dR&T (32XHRA)

4. Practice/ JWMY

Correct Answer :-



« Memorizing/ g HAl

22) Which among the following type of learning involves higher mental
processes taking into account gasping of meaning or significance of a given

phenomenon?/ 34 ¥ f&d yeR & AR # Swar Arafye ufthare wnfire € < fasft
ufvge faviv & o a1 Irdfear R faerR st &2

1. Trial and Error/ Wﬁ%

2. Cognitive learning/ SIS U (Hiffed @)

3. Classical conditioning/ FRRUTATSdUTIG e (FATRId DHSI=IT)
4. Operant conditioning/ fohaTUIAUT G (3HTRE dHaI=fT)

Correct Answer :-

. Cognitive learning/ IS SR (BITAfcT af-m)

23) Which among the following objective holds incorrect for pre-school

education?/ Yd-faemaal fRien & dey ¥ 3790 | S19-971 ST T4 82
1. To develop rote memory in children/ s= RGTHR Wﬁmﬁmm
2. To develop aesthetic appreciation in children / = H Tlied TRTET &1 [AHTT HIAT

3. To develop in the child a good physique, adequate muscular coordination and basic

motor skills/ T B 35T ARIRG-TT3+, AIY-URE # yafa arand iR SMURY TS HId
fas RId &

4. To develop emotional maturity by guiding the child to express, understand, accept
and control his feelings and emotions/ S &1 30 TEIN 3R HTGATE ad B, THIH,
WHRA 3R Fifd & & anfee g HaATds aRusdr faeRid &

Correct Answer :-

. To develop rote memory in children/ s= & RGTHR Wﬁmﬁmm

24) The concept that objects continue to exist even though they cannot be
seen or heard is termed as:/ a%&U faem™ a1 Tl €, a9 Wt 59 3¢ S@r T AT A W
T g, 5 SURUN HI FT Hed 82

1. Accomodation/ FHTISH
2. Object permanence/ a¥%] ®IRIE

3. Assimilation/ TERITA®H U/ THRUT (TRTHTRH)

4. Mental equilibrium/ AFRT® JTRTTRAT

Correct Answer :-



« Object permanence/ aﬁwﬁa

25) Which among the following statements is false with regard to people

with hearing impairment?/ 4auf &iuraT ard @ & oy A 90 I PI-9T HY Tad 82

1. It is believed that some amount of residual hearing is present in all people with
hearing impairment/ Ig AT ST § & rqur eftorar arar gt sufaqal & 91t amn o sad
0T & JURYT Bt ©

2. Hearing impairment automatically leads to inability to speak/ srquT efturar Wd: g1 Siem
H rgHfdT BT HRU & Sl §

3. Early detection of hearing loss and training is essential to help the child make use
of whatever hearing he has to help him develop communication skills/ &= H fora= oft
AU &I § SUBT SUUNT B HAIG BRI B Id B § Hag I & (o8 T8 A g
0T & o BT BT SRY T B T T oy 3R wfRigror fear sy

4. Hearing impairment has a wide range of gradation- from profound to a partial

hearing loss/ 4dUT &ftural o1 Tgs AT § - TR F AR 3111 49ur &HdT 819 d&

Correct Answer :-

« Hearing impairment automatically leads to inability to speak/ 4aur &iurd @d: gl aieH
A AT BT HRUT & ST 3

26) If you stroke a baby on the sole of her feet, she first spreads her toes
and curls them, the baby is exhibiting which of the following reflex:/ gfe My
forelt R & TR & Usl & al IR die B 1 98 g U1 W BT Rferai berar g ok fier 3%
A AdT 21 gy 37H | Pi-a7 ufoad gt @1 82

1. Rooting/ Hfﬁ?cﬁf (Fi?T[)
2. Moro/ HRI

3. Babinski/ STfe=bt

4. Grasp/ TTa!

Correct Answer :-

« Babinski/ STfa~xbt

27) On an average a neonate’s height is between:/ Wﬁf{[ﬂﬂm&ﬁw

Lok

1. 6-10 inches/6-10 §9
2.11-16 inches/11-16 39
3.17-21 inches/17-21 59

4.22-28 inches/22-28 34



Correct Answer :-

« 17-21 inches/17-21 5d

28) Sensorineural hearing impairment involves problems confined to the:/

Hag-axaa yaur efvrar & fdre wweany ... & Wi 9§
1. Outer ear/ STgI &l

2. Middle ear/ Aed &I

3. Inner ear/ 3fiaRe Hf

4. None of these/ sﬂﬁﬁaﬂéqﬁ

Correct Answer :-

. Inner ear/ 3iiafke &l

29) Which among the following are models of mainstreaming?/ sﬂ'ﬁ'“\ﬁiﬁ:{

IR & W (@RI & e 2

1. Advance and No reject/ 3{U&RUT Td Y 3RATHRUT

2. Fail-save and Zero reject/ GI¥-YR& Td Y 3RATHUI

3. Admission to all and Failure to None/ ¥ &1 Ua=1 Ud fatherar foreft &1 -7g

4. Save and Protect/ ST Td I&T HAT

Correct Answer :-

. Fail-save and Zero reject/ GIV-YR&/ Td Y SRAHRUT

30) Which among the following relates to the set of laws, policies,
regulations and services needed across all social sectors- especially social
welfare, education, health, security and justice?/ 94! GRS &3 - faRiv 0 q
TS HeaToT, 18T, TRy, Y& TG <A1 - § SMa=asd B!, Aiaal, faf-au vd Jarsi &
IYE A 399 | $I9 giafud 82

1. Child Protection System/ dTd X&T d-d

2. Child Support System/ STd TgdNT dd

3. Child Support and Strengthening System/ ST ¥8dRT Td TRIfad 0T

4. None of the above/ 378 ¥ &I gl

Correct Answer :-

« Child Protection System/ §Td R&T d«



31) Repetitious speech accompanied by spasms of the muscles of the throat
and diaphragm is termed as:/ Sg<Tagad aTvil UG GTY H A TUT STATIHTH $t ATH-
Ul #t ¥59 Bt Pgl ST g

1. Lisping/ ddd=T

2. Slurring/ fowsaq (3eR SIEIa) Gﬂtlﬂﬁﬁlﬂ\?lm)
3. Stuttering/ gh Al

4. Cluttering/ TAdT=aRT (Sdd THT &R I i)

Correct Answer :-

« Stuttering/ H Ml

32) Functions specific to the individual, such as swimming, ball throwing or
riding bicycles for which training is required are known as:/ e fafRy uerd,
W %A1, We Brar a1 Arsfea e, e fore ufienr # smazasar gl 3, ... peard g

1. Ontogenetic function/ Sfdd-gaTHGYHT

2. Phylogenetic function/ GT%W
3. Onward genetic functions/ 39 WWE@T&

4. Organoleptic functions/ 3T gl Ueri

Correct Answer :-

. Ontogenetic function/ Afad-FAHBIGTI

33) Which among the following term is used for the tendency to ascribe life
like qualities to inanimate objects?/ 378 ¥ f&¥ Xeg I fAeffa axge @ sftaa-aw
o7 &t Hafia e @) waftr & fore war fomar irar 82

1. Egocentrism/ NI A RIS CA ek | @ﬂ@@\_ﬂ)
2. Daydreaming/ faarey

3. Animism/ Sitadre (TfAfHES)

4. Socialization/ HTHTSHTARUT

Correct Answer :-

« Animism/ Siigdrg (UffEem)

34) Which among the following is the component of ICDS Scheme?/ stlﬁ'@
P ASH ST Y11 HT U U 82

1. Supplementary Nutrition/ Wtﬁw



2. Health check-up/ W Sl
3. Nutrition and Health education/ GINUI T4 TRy fR1ef
4. All of the above / ijaamﬁ

Correct Answer :-

« All of the above / Iudad Tt

35) Which among the following refers to the absence of a particular part of
the body or organ, or a reduction in function of some part of the body?/ E{"-l'l?r

¥ forae ord IR & fHat Ut faRiv 4 ot & srguiufa, sryar IR & ity &t
Ppraewar § oH 4 82

1. Impairment/ &fforar

2. Disability,/ e

3. Handicap/ fa&aiTar

4. None of these/ ITH I PIs g1

Correct Answer :-
« Disability/ 3Raddl

36) Which among the following involves an educational placement procedure
and process for exceptional children based on the conviction that a child
with special needs should be educated in the least restrictive environment?/
39 9 forad 391 Te-fayra o, faxiy smaxa@arsii arel =i 1 gAaH Ufda uTeT® ufaxr o
ﬁwﬁ%ﬁ,%mmwmﬁ%mwmwmwm
'}z‘nﬁﬂ' 0]

1. Mainstreaming/ Y37 YR H - (ﬁ?ﬁﬁﬁi’ﬂ)
2. LabeIIing/@aFFr

3. Rehabilitation /QFIGN

4. Vocational education / SATaHTA% R

Correct Answer :-

« Mainstreaming/ Y31 YRT o (ﬁ?ﬁﬁﬁi’ﬂ)

37) Which among the following holds true for learning?/ 3iftRmH (@f+m) & forw
TH 9 DI 91 9 §?

1. Learning is a continuous process/ 3ifRTH T Idd Uf$har g
2. Learning is a gradual process/ WWWW%



3. Improvement in performance results with practice and experience/ 3J¥rd @T&Iﬂﬂ-ﬁ

¥ gz fkumy dgaR 8id
4. All of the above/ Iujad Tt

Correct Answer :-

« All of the above/ Iujad Tt

38) Twenty two pairs of chromosomes are called/ TR & qT3H SAIS| DI ... ad
gl

1. Autosomes/ fiTgA

2. Zygotes/ JHAY

3. DNA/ SITT

4. None of the above/ 378 9 ®Is g

Correct Answer :-

. Autosomes/ S{TCTRA

39) Automatic physical movements of a new born in response to a particular

event or stimulus is termed as:/ f&Hl ge1 a1 IEUA A=Y Ft rgferar & Taema Ry
# g aral W RIS Waed &Y ... BT AT g

1. Reflexes/Yfaad/vfaadf ferama
2. Retention/ IRRIRL]
3. Retardation/ Hed

4. Recovery/ J: UGy

Correct Answer :-

. Reflexes/Ufaad/ufaadt fsramg

40) Phallic stage of Psychosexual theory of Freud corresponds to which
stage of Erikson’s Psychosocial development theory?/ %1gs & U I®
@J1-H1gP) Rigia ot Ry sraw, wfveas & g oo Rigid ot 59 s &
T 82

1. Trust versus mistrust/ fayma s917 sifaym™
2. Autonomy versus shame and doubt/ WW@@W
3. Initiative versus guilt/ Ugd S-TH ORTYETY

4. Industry versus inferiority/ URYH S BT



Correct Answer :-
« Initiative versus guilt/ Ugd d41H SRTYSY

41) Which among the following are the beneficiaries of the supplementary

nutrition program under the Integrated Child Development Services?/ qAfea
19 faera Aareit & siavfa e thwor srdey & arurdfsa S #1982

1. Children below 6 years/6 a9 ¥ %H g aTd g
2. Pregnant and Lactating mothers/ THdc Td Ta-u= &1 e8! i
3. Both of the above/ JWRIad I

4. Women between 15-45 years/15-45 3§ &1 faai

Correct Answer :-

o Both of the above/ RUCIESRAG]

42) Which team comprises of Anganwadi workers, Anganwadi helpers,
Supervisors, Child Development Project officer and District Program

Officers? FTHATS! HIAGAY, TS Terad!, widers!, a1a faera ufvaismr st
wd forem srdwH sfteriyal & firares f5a gd &1 e+ giar 82

1. WHO team/ SsgUdsh gd

2. UNICEF team/ gf-¥® &d

3. ICDS team/ 3MSYISITH &d

4. NIPPCD team/ THSMRUIURIE! ga

Correct Answer :-

« ICDS team/ &névsﬂe‘rwaa

43) Which among the following holds true for emphasizing the need of pre-

school education?/ Td-faemedt fRiem $t smazaddt R ga 31 & fousad A s I 32

1. Promotes biological, physical, physical, emotional, social and intellectual growth of

children/ = & Sifde, TR, HTa-THS, TS 3R Sifgd fabTd & ggrar adt @

2. Takes care and provides custodial and other care for children in the absence of

parents,/ ATAI-fOdT &1 U H S@HTA Bl B T TReft Td 3 @I USH Bl &

3. Reduces the number drop out from primary schools by providing fulfilment of

potential abilities of children/ S & THUTdd AFgar3ll &1 W UaH HIdb WUl fagmaar
& S H g BTS2 aTal el &t Te gerdt 71

4. All of the above/ Iuad Tt



Correct Answer :-

« All of the above/B'CI'ﬁaﬁﬂﬂ-ﬁ

44) Which among the following technique is used for studying social
relationships in informal groups?/ 3AU=NTR® JYE! # YrATRG Jaei & srea— &
fore 39 @ fore -t &1 Iua fpar wrar 82

1. Socialization/ 9THTSIIGRUT
2. Sociometry/ FHSIHIT
3. Anecdotes/ gxiid

4. None of the above/ '{Hﬁ@[?ﬁgqﬁ

Correct Answer :-

« Sociometry/ BLISIEIR]

45) Which among the following facilities are provided to the disabled by the

Central Government of India?/ Wﬁhwmmﬁﬁﬁﬁﬁﬁ'—r—ﬁ
IRTG yor &t Wt @2

1. Persons with disabilities are eligible for income tax deduction under Section 80U/

fEeToT 4RT 809 & Sl STTHR Heldt &b U &

2. Persons with disabilities are exempted from payment of professional tax/ feaiTe-I

&1 R HR (NHIAA ) & YTaH I e &

3. Legal guardians of dependent persons with disabilities are eligible for income tax
deduction under Section 80DD/ 3Tf¥d fETTTHI & BT TREH/SHHUTTD YRT 808! b
3l MaHR Heldl & U §

4. All of the above / G'C@Tﬂm-ﬁ

Correct Answer :-

« All of the above / a'créjaamﬁ



